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THEE Is A DIAGNOSTIC PROGRAM F09 TE3? Mg WHE ANDe ngéi

QPEQATE; AND BASIC M02 INSTRUCTIONS OF THE PDPWB/E ORNVa

REQUIREMENTS
—-"-—-“"‘—"-w“-

EQUIPMENT
“’C-UU'.--‘

A PDP-B/E EOOIPPED NITN TELETYPE.

STORAGE

THIS PROGRAM USES LOCATIONS 0600~9761. THE BINARY LOADER MUST

BE STORED IN THE LAST MEMORY PAGE.

PRELIMINARY PROGRAMS

-------------- p-——-_

NORDING PROCEDURE

METHOD

THE STANDARD BINARY LOADER IS USED.

srgRTINO PROCEDURE

-------—— -—----—--
.

-

gONTROL SWITCH SETTINGS

SRs7777

STARTING ADDRESS

3263

OPERAToR ACTION

--------- :3

1, SET SR TO 208 AND PRESS LOAD ADDRESS,

2. SET SR TO 7777 AND PUSH CLEAR AND CONTINUE

(A . PRQGRAM wILL HALT. MA3147

4, 1? AC : [‘36 AN ERROR HAS OCCURRED!

\I‘. PUSH CONTINUE, PROGQLD‘. WiiaL fQUN UNTIL STOPPED 0:1 UANTIL

AN ERROR IS ENCQJNTEREDe



5.

6.

7.

v.2

8.

OPERATING PROCEDURE

........ -a¢----Q-—-

SAME AS SECTION 4.

EPQGRS
0"mm4iv"

ERRC HALIS AND DESCRIPTION

SEE LISTING,

gRRDR RECOVERY

IF IT IS DESIRED T0 LOOP ON THE TEST CAUSING THE ERROR, REPLACE

THE OPERATE INSTRUCTION<S) PRECEDXNG THE HLT WITH A JHP TO THE.

BEGINNING or THE TEST.

RESTRICTIONS
fi'fi-oaifi—‘fifi--

STARTING RESTRICTIONS.
NONE

OPERATING RESTRICTIONS: NONE
-------- -§‘-----------

RISCELLANEGUS

EXECUTION
TIME

256 PROGRAM LOOPS PER MINUTE.
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FRQFFAH BFSCRIFFIsm
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FHE PFfiGRAM CON32FFF FF naNF 5NQ;«.F9F% TFFFSF FF MOST FFFFF

EACH FEST cchKs ONLF aré FFXGF éFF 355% FFF‘EFFSLV 53$?”
F fifififl§$fi FFQFFFF

ACFiaN IS STRISTLY SF‘EFR L‘5 ankw FFR SKEFFe FHE fiNLF gm?F

%E géfilkm HQ fifi'vu EWQ Q? 5N; gfiHw‘flmg
F 3

INF?hUfiTIONS DEED AR? FT
3 FQHQ“;

ED FUNCFIQNS PS A BAFE.‘§ rfifi :Hg 2i§§s F;

: ;
THE SEQUENCE D? FE SF1N§ a»

‘

1a FEST ALL GFEFAFE FQFGFFFNF FffisviFLL¥ tafiafl? FUR FjFéFgfi.

2. FEST "TAD” ZNSFRUQFIGN,

3. TEST RDFATE FUNCFIQNSe

4. TEST "SSH” INSTRUQFEQN.

5. GROUP 1 OPERA?! INQTRUGFION TEST. fiLL POSSIBLE €OMEKNAT§0NS.

%. GROUP 2 OPERATE IFQFRUCTEQN TEFT. ALL FUSSIBFE EQHBXNFTZQNS-

F. MD INSTRUCTION TEST. ALL POSSIBLE COMBINATIONS.

3; 759? vANo" stvaugrxon,

Fae TELETYPE BELL RINGS AFTER EACH 51? PROGRAM Loans;

gingNG
gangs-HQ



$69@

5651

5802

6963

5954

EEES
9696

6657

6926

ifififiwgfi iwg??U€:Z§% 1“3T 1

itsw¥izsw 1??@. fiiSiTa‘ isdxfi?ga? fiSfiQe, fiéVfififiis agiga $1?§€
{TAPE 1

33%s?fi fSaAP ByTES EN AC

NQ?E§? ‘1 iNfiP

3L £3? 1 ISkEAR A8

M3L374 {LEAD fig gfififi AC $HEN EQEAR AC
M3A375‘ iiMCLUSEVE OR; fig gma AG

“AMm?é&1 ffigfififl Afi AND HQ

SHP375z; /SHAP As éND HQ

g3L=7761 ILQQD AC FROM Ha. figfifiR M9

fig

HALT:

N009?

929
Kgflflg:

K993$p

K5393:
Kfiflfié.

K3613;
K3323.

K9342:

K5133:

flfiEgfi.

Kfiéfifiy

filfifigy

K1234:

555.3333:

K3312:

K4533:

K7717:

K777éa

K7779:

K7773»

y

k

.613;

:ix‘.

-

-

\J

\J “4

"~13?

\‘3

‘

.

‘

w,

u.

1"?»

3.?

3":

"W

”

wzflcxw \3

“NJ

\5

C-xS

U31?»

\5

a

\J

“x?

\l

\54

“d

"

\J

\5

\3

"ME

A“

"

I)

‘n’

‘0.

_

firs

.9

9

4MP 1

9952
9853

8

wfififi

HLT

MOP
@

{CSNSTANYS AND VARIABLES

5999

was:

mafia
@354

@329
532a

fiflfifi

fiififi

32§E

zégfi

3336
1234
23$?

3312

4%36

77:7

??76

?775

?773

73$?

?757

7757

?67?

$77
wt

0

I

(:9

\J

\J

\5

"\3

(fl

‘\n£

Va

\J

NA

“-13

\J

\J

MUS \‘J



l§fiflm§jf {N3TRUCYIDN TEST 1 PALifl Vléi 37MA3771
.

13353 ?AGE 1°1

(
9994 7777 97777. 7777

‘ (

9995 5252 99292. 9292

-9956 2525 92929. 2525

9957 9999 99999. 9999

9999 7999 K7999. 7999

9951 7499 97499. 7499

9992 7999 97999. 7999

9993 7749 K7749. 7749

9994 7799 K7769. 7799

9995 7779 K7779. 7779
9996 7774 K7774. 7774

9997 9993 99993. 9993

9979 9997 99997. 9997

9971 9997 » K9997. 9997

9972 99;7 K9917. 9917

9973 9997 99997. 9937

9974 9977 «9977. 9977

9979 9977 99177. 9977
9976 9377 99377. 9377

9977 9777 99777. 9777

B156 1777 K;7777 1777
9191 7799 K7799. 7799
9192 9999 «5227. 5995
9199 3572 K2552. 2552

9194 9779 «9779. 9779

9795 7997 97997. 7997
9199 9297 BEL. 9297

6197 7399 flLCNTp «LEBQ

9119 7999 BLCON. -1999

3144 9144

/TAD:CLA.HLT.TEST
51§4 1954 S?ART7 fAD K7777

@165 $296 CLA
9196 7492 997 /AC SHOULD“?

/SET SR 70 777?, SG97I~UE
{SKIP TEST

9147 741% SK?

9159 7492 ML? XSKP FAILED
lSEA TEST 1

9151 7209 CLA

9152 7449 82A

9153 7492 HLT ISEA SHOULD HAVE $919950
/AC SHOULD EQUAL ZERO

9154 7456 SNA

9155 7419 8%?

6156 7432 HLT ISNA SHOULD NOT HAVE SKIPPED
/AC SHOULD EQUAL EERO

/S9A TEST 2

@157 7200 CLA

@169 1936 TAD K4903

”“7.



fPDFw8/E XNSTRUCTifiN YES? 1 PALIg V141 32H2R27; i33§3 9232 122

2161 $§§i 332

2122 2212 222

2123 ?422 HL? fSiA SHOULB 227 HAVE 3212252
IAC SHOULD EQUAL 2222

5164 7456 SNA

2125 ?922 HLT /SNA SHOULD HAVE SKIPPED

IAC SHOULD EQUAL 4906

{SEA T55? 3

2126 2222 CLA

2127 1334 7A2 22222

2172 7342 52A

2171 7912 222

2172 7422 ML? xszA SHOULD NOT HAVE SKIPPED
IAC SHOULD EQUAL 2222

2173 7432 SNA

2174 7522 HLY ISNA SHOULD HAVE sxxppso

2175 7222 N09 /AC SHOULD EQUAL 2222

2176 7222 NOP

2177 7512 SKP ISKIP OVER JMP START.

2202 2222

2222 2144 BEGIN. JHP START /BEGINNING OF INSTRUCTION TEST 1.

132A TEST 4

2221 7222 CLA

2222 ;232 TAD K1222

2223 7942 32A

2224 7412 5x2

2225 7522 HLT /SZA SHOULD NOT HAVE SKIPPED
/AC SHOULD EQUAL 1222

2226 7552 SNA

2227 7522 HLT /SNA SHOULD HAVE SKIPPED
/AC SHOULD EQUAL 12222

1522 TEST 5

2212 7222 CLA

2211 1231 TAD x2422

2212 7242 SZA~

2213 7512 322

2214 2422 HE? 2322 SHGULG 22? 2222 3222222
IAC SHOULD EQUAL 2422

2215 7252 SNA

2216 2922 HLT /SNA SHOULD HAVE 5212222

/AC SHOULD EQUAL 2422

2522 YES? 6

22;7 7222 CLA

2222 1232 TAD K2222

2221 2442 SEA

2222 2412 522

2223 7422 HLT ISZA SHOULD NOT HAVE 3212220
/AC SHOULD EQUAL 2222

2224 2452 522

2225 7422 HLT zSNA SHOULD HAVE SKIPPED

xAc SHOULD EQUAL 2222

/82A 7257 7



fpbanZ' INSTRUCTION 7E3? 1 9AL19 V351 3'Nfifia71
(

13893 FAQ! 193

if E

3226 ‘7356 ‘CLA

@227 1927 TAB K9159

5239 7945 32A

@231 7419 $KP

$232 7402 HLT xng SHDULS NOT HAVE SKIP?ED
/AC SHOULD EQUAL @199

9233 7450 §NA

@234 $492 ML? zswA SHOULD HAVE SKIPPED
lAC SHOULD EQUAL 915a

iSEA TESY a

@235 7266 CLA

5236 1926 TAD «9949

@237 $349 82A

5246 7410 SK?

2241 7332 ML? ISEA SHfiULD NOT HAVE SKIPPED
/AC SHOULD EQUAL Bode

9242 7359 SNA

0243 7962 HLT (SNA SHOULD HAVE sxxppzo
IAC SHOULD EQUAL 054a

152A TEST 9

9244 7200 CLA
9245 z$25 TAD K9529

:246 7549 SEA

3247 7910 SK?

5256 7932 HLT ISEA SHOULD NOT HAVE SKIPFEE
IAC SHOULD EQUAL 6626

5291 7350 SNA

@292 $992 HLT lSNA SHOULD HAVE SKIPPED
IAC SHOULD EQUAL @529

{SgA TEST LE

5253 V295 CLA

@254 1&24 TAD «@319

$255 7649 SBA

$256 79;a SE?

@297 7492 HL? isaa SHouLa NOT aAVE SKlfifigfi
/AC SHOULD EQUAL 3919

gags 7455 Efié

525x 7492 HLT ISNA SHOULE HAVE §KI?PED
iAC SHOULQ EQUAL Efiifi

ISEA YES? 11

@292 $299 CLA

5263 1923 ?AD K2834

$254 7440 SEA

6265 7410 SK?

gees 7492 fig? ISEA SHOULD NOT HAVE SKIPPED
/AC saouLn EQUAL 9934

@257 7459 5H5

5279 ?462 HLT xsma swcugo HAVE SKIPPED

/AC SfiGULO EQUAL 9594

/SBA TEST 12



{93?«O/E 3%S7RUCVION ?

$271

52??
2273

9274

@275

9276

9277

5350

9361

$362

$363
9304

6365
@306

0367

I310
9311

B312

0313
9314
5315

5316
B317

9329

5321
5322

5323
@324

@325

@326

@327

9330

6331

$332

$333

@334

9335

7266
1921
746a

Vfiae
74a2

7459

Véaz

7200

1&53
751a

79u2

7290

1936
7510
?$10
7&32

723%

1353
$5OD

?910
7982

?299

1236
7566

7432

7239

1Q54
?@43

?440

?432

6"?

ISZA

ISPA

ISPA

ISMA

lSHA

fiégifi

,

SL3
?é3

SEA

3%?

ML?

SNA

HLT

TEST 13

CLA

TAD

32A

SK?

HLT

SNA

HLT

TEST 1
OLA

TAO

SPA

HLT

TEST 2

OLA
TAO
SPA

SKP

HL?

YES? 1

CLA
TAO

SHA

3K9

HLT

TESY 2

CLA

TAD

SMA

ML?

TEST 1

OLA

?AO

CMA

SEA

HLT

fifififlfi

K6961

K3777

K4060

K3777

K4289

K7777

Viéi gmfiéfiw?i 33333

/33A SROULO NO? HAVE SKIPPEO
/AC SHOULD EQUAL 9352

/SNA SHOULD HAVE SKiPPEO
IAC SHOULD EQUAL 9592

/S§A SHOULO NOT HAVE SKIPPEO
/AC SHOULD EQUAL 9991

ISNA SHOULD HAVE SKIPPEO
IAC SHOULD EQUAL 9391

[SPA SHOULD HAVE SKIPPEO
IAC SHOULD EQUAL 3777

/SPA SHOULD NOT HAVE SKIPPEO
lAC SHOULD EQUAL 4562

x3m; SHOULO NO? HAVE SKI ran

IAC SHOULD EQUAL 3777

/SMA SHOULD HAVE SKIPPED
/AC SHOULD EQUAL 468%

/CMA DID NOT

(e

COHFLEMENT AC

fiéfii imé



@563
@361
$352
5363

E3é4

§3é5
@356
5357
93?6

537i

@372

$373

@374

3375

6376

B377

@459

Z4E1

Q4§2

9423

6424

gs

Ni

«3:3,?
if?)

3".)

“3,38

m

“2

35;"!

(3"

"E!

”1:?

U}

«b

M53

$33

a

‘53

mg

«‘3

<8

“”3

'

:3

.31.

* 23 m,
.

g@w&M'
‘

'

i?
9".“ 2' {3"

”*51,.) ,'

u f! ax

‘?
-

;. {’35
t 3;!

5‘: .f- ..'.:" fin,

F m? €55 A45

7233

1954
?géa
$§aa
ggaa

?aga

79a1
$§49
$§Lfl
$352

?22@

3954
?931

7949
$492

7299

3966
7931

?991
?961

?091

:‘3 .,§
{; a

i (a

:17 ‘3‘:
y

n “a:

s” i.
,

‘ i ;

fCNA

fiflC

ZEAC

w TAD

CLA

7&9

EMA

33A

HLT

T§S? 1

6g;

iAfi
SEA

gap

Hg?

2 3”-

? ‘71,“? i

m

"t-

,A’

3.;
“‘ :3

TEST 3

K7777

R7777

K7774

:
‘*

» 5": a“? £73 533 z. r * w a"; ”'1‘; .; u m
‘

,- 5* L3 a; ”A La é“ i; a“; '1" ‘1: n

m, Jr! J, ;~ «,5?
‘ ~

:5 if} i {i ‘3 §§§§§§
w. .:

5., W.» », , .

gm

‘ '7‘ ‘
‘1 s"? ’3 i: 3 z“3 1;; ~

5‘“ 5 3'3. 11:33.. {‘1
v {-5 Q, g; . ., i‘ i} Vi

,4 t f“
A“

;‘ .Q; 39.3
~

a~

,;

“"1: a: ”no.54
'Mmv, § w.59 W a.”

.7
.r 3.4.

fVAE 0R EMA ERRGR
{AC SHOULD EQUAL 9636

fYAD 0R fifié EQROR

iAC EHOULD EQUAL 5366

/1AC DID NDT INGREMENT
JAG SHOULD EQUAL 9066



f?3fiv8!€ INSTRUCYIGN TEST 1

§é§§

flfifié

3437

3410

5411
5412

C413

3414

5415

9416
0417
D429

D421
D422

D423

5424
0435
0426
U427
0430

D431

5432
B433

5434

6435

6436

5437
D44?

3451

5462

D445

D434

646$

6446

B447

@459

$451

9452

?%é§
$5fi2

T299
7199

7334

?430
?432

7299

7166
7926

1936
7&54
7439

7§1a
7592

7200

71am
7aaa
742a
7916
79a2

?269

7zae
722%

1936
7964

742a

7492

7299

$936
?EQ4

$423

5252

7199

?439

7éfi2

§2§6
?929

DALiD V

“

Eéé

ML?

fS§L TEST 1

CLA

CLL

RAL

52L
HLT

ISZL TEST 3

CLA

CLL

CML
TAD

RAL

52L
SKP

HLT

ISNL TEST 1
OLA

CLL

RAL
SNL
SKP

HLT

ISNL TEST 2

OLA

CLL

CML

TAD

RAL

SNL
HLT

ICLL TEST 1

CLLl:

CLLlla

CLA
TAD

RAL

SNL

JHP

ELL

SZL

HLT

4%?

CML

K4609

KQQDD

K4665

CLLii

141 §WHARG?1 13:33 fiéfii 196

lIAC NOT chazfigwfzws
fAC SHOULD EQUAL £559

/CLEAR LINK
(CLEAR LINK SAFETY

ZSZL SHOULD HAVE SKIPPED

/LINK SHOULD EQUAL ZERO

/CLEAR LINK
ICCHPLEHENT LINK

ISET LINK SAFETY

ISEL SHOULD NOT HAVE SKIPPED
ILINK SHOULD EQUAL ONE

ICLEAR LINK
/CLEAR LINK SAFETY

ISNL SHOULD NOT HAVE SKIPPED
ILINK SHOULD EQUAL ZERO

lCLEAR LINK
ICDMPLEMENT LINK

/SET LINK SAFETY

ISNL. SHOULD H VE SKIPPED
'

'3'
Ennlll| Al‘lE9" UNI- U

/SET LINK

{CANNOT SET LINK HITH RAL
ITRY A CHL

fCLL DID NOT CLEAR LINK

/LINK SHGULD EQUAL DNE

/SET LINK



E?§PW3/E INSTRUCTION TES? 1 PALiB Viél GwfiAR-71 133§3 5A3? 1'7

( sass 7%29 SNL (
-

‘

@484 7&92 HLT zcawwov SET LINK wITH

/RAL 0R CHL. CANNOT
IPERFQRM cg; TEST 1

$495 9246 4%? CLLi

ICML YES? 1

@496 7169 6ML71: CLL

@457 7433 32L
gage 7592 HLT /€LL DID NOT CLE&R LINK

9461 7920 CML

@492 7429 SNL

5433 7492 HLT #CHL DID NOT SET LINK

@454 7928 CHL

@495 7%36 3EL

E466 7&22 HLT ICML 010 NOT RESET LINK

ICLA TEST 1 (OPERATE GROUP 2)

£497 7293 OLA
6479 3954 TAD K7777

8171 VQSS 7638

5:72 7&45 52A

5473 7¢fi2 HLT ICLA (7606: 010 NOT CLEAR AC

IAC SHOULD EQUAL Baas

loss TESY 1

3474 7256 CLA

6475 73%# as:

6476 78‘! CHA

El77 79$5 525

$528 7§32 HLT 105R DID NOT SET AC To 7777

IAC SHOULOQE

iNGP YES? 1 (OPERA?E GROUP :2

5551 Viflfi CLA

@592 7383 CLL IAC AND LINK EQUAL EERO

8593 7929 7fififi /TESY INSTRUCTXON

353$ 718% SN1

@595 793i SEL

@536 7552 , HLT IND? FAILURE
IAC AND LxNK SHOULD BE zeao

7&0? TEST 2 (OPERATE GRGUP 2:

6537 7266 CLA

651% 7199 CLL /ac AND LINK EQUAL EERO

9511 746% 7462 /TEST ENSTRUCTION

B512 7450 SNA

9513 7439 52L

9514 7462 HLT /NOP FAILURE
/AC AND LINK SHOULD BE azao

[TAD TEST 1

6515 7290 CLA

@516 1053 TAD K3777 fOPERAND 1

9517 1936 TAD K4QGE IOPERAND 2

Mo...“



as?3us?:§w ?EE? 1 figgig wiéi 3*HAW”?3 15533 33%? 3“5

$§gg Efiéfi Jfié

afiii $éa$ ifié

Lééz ?$€2 4;‘ {FAB Egfififi

x a saeuga EmuAL gags

ivéfl 733? 9

@523 ?263 figg

2524 igaz $59 3577? lGfiERANQ ;

3%25 1&36 ”A5 zgaaa [OPERAND 2

flags #339 ran

$537 vsée 335

3§3E ?§92 fig? ,an ERRQR

{$6 SHOULD EQUAL @656

/?AB ?€S? 3

$531 72§B CLA

$332 1551 an K6777 xefigaawu ;

3333 1332 ?AE K1396 IDPERAND 2

6&34 79¢5 EMA

B585 79é9 SEA

5536 ?§92 HLT IYAD ERROR
IAC SHOULD EQUAL @959

iTAD TEST 4

6537 ?296 CLA
6563 3996 TAD K7377 IOFERAND 1

8561 $93; YAD K2466 IOPERAND 2

95a? 79¢9 CMA

8563 ?942 SEA

5364 7662 HLT ITAD ERROR

{AC SHOULD EQUAL fifififi

/?AD YES? 9

E§65 ?865 ‘ CLA
3566 1367 TAE RI37? I$PERAND 1

5547 $533
i

?A K5269 lOPERAND 2

5559 $§éa Cfifi

éfifii ?§46 $EA

$532 7%92 HLT iTAD ERRGR

/AC SHGULD EQUAL 9986

iTAD YES? 6

§§§3 ?335 CLA

65§4 gfiéé 7A0 a 677 xaPERAND a

fi§§§ $327 $As afizgg zcfisfirwo 2

wfifié ?5$fi CMA

§5§7 $4$§ SEA

Qaéa ?%52 Ht? i?AD ERRQR

. xac SHOULD EQUAL @535

:rag 75$? ?

EBél ?295 SLA

aaae gfififi ?A§ «7737 iGPERgMS 1

@fi33 ifidé {A3 <E$4S /0959&w3 ?

@564 ffléfi sax

£§¢§ ?é¢fi 35:

fi§éé ?432 aé? I?A3 “”%%

’21:; ‘1‘.“ ‘ r}3L “Riv/33

i 5“, ‘Y‘E‘Zw 5



/?ap~age INSTRUCVION YES? 1

9567
9379

9571

@372

fi§73

@574

@575

5576

3577

5559
6661

9692

3603

9654

0605

5666
€667

961!

$611

9612
$613
$614
6615
3616

9617
@629

9621
9622

B623

5624

@625

6626

$627

663%

6631

9632

6633

@634

9635

72cc
1944
1925
7949

?445

7402

7259

;aes

1924
7940

7445

7932

72:2

1942
$923
19‘:
7949
7902

72:3
tat:
gaze
7940

7949
7§az

7203

gene
1921
7049

754a
7492

7290
7132

1936
1235
7439

7449

7462

720%

7109

ITAD

ITAD

ITAD

ITAD

(TAD

ITAD

RALifl V141}

ELA
TAD K7737

TAD K9929

ERA

SEA

HLT

?EST 9

CLA

TAD K7767

?AD Kfifllfi
CH5

83A

HLT

TEST 19

OLA
TAD K7773

TAO K9564

CHA

SIA

HLY

TEST 11
OLA

TAO K7775

TAO K8992

CMA

82A

HLT
TES? 12

CLA

TAD K7776

TAO Kfififll

CNA

SiA

HLT

TEST 13

CL&
ELL

TAO K4flfifl

VAD K4660

32L
SEA

HLT

TEST 14

CLA

CLL

(

aanAa-71
J

13:53 @392 139
i
\

IOFERAND 1

IOPERAND 2

[TAD ERROR

IAC SHOULD EQUAL @026

/DPERAND 1

ICRERAND 2

lTAD ERROR

iAC SHOULD EQUAL @092

IOPERAND 1

[OPERAND 2

ITAD ERROR

IAC SHOULD EQUAL @580

IGPERAND 1

IOPERAND 2

ITAD ERROR

{UPERAND 1

iOPERAND 2

/7AD ERROR
lAC SHOULD EQUAL 663$

/ORERAND 1

IOPERAND 2

/TAD ERRCR. AC SHOULD EQUAL @996

/L1NK SHOULD BE EQUAL ONE.



xgagflaia

amfihfiim méhfl~&(%-.. &&&h‘“fi Riv-‘EA‘V'SIUNan

xv

@643

9544

3645

Qéfib

5647

36??
@651

3552
5653

5654
@655
2656

9657
9663

8661
6662

96é3
9664

$655
$566

§6é7

$679

8671
3672

@673

9674

5675

@676

@677

B7fi0

@731

fi7§2

$733

67E4

E?@5

fi7fi6

iTAQ

ITAD

ITAD

{TAS

{TAG

EALEQ fiifii

?A§ Kéfifie

?A§ fififififi

3&;
35A

3L?

{EST 15

CLA
SLL

TAO K7fififl

TAQ K1683

séL
fiéé

5L7

$55? 16

CLA

CLL

YAD K7406

7A9 K64fifl

SEL
SEA

HLT

TEST 17

CLA

CLL
TAD K76EG

?AD K5299

52L
sfiA

HLT

TEST 13

CLA

ELL
TAD K7796

TAD Kfiififi

33L
32A

ML?

T55? 19

CLA

CL;

?AD K7748

Véfi Kfifiég

$EL

géfi

HLT

TEST 2E

CLA

amfig§myg isz§3

Jfifififififia i

ifi?sfiéfia 2

{“3" (I E’ia 1‘9fVAD EfififiR. Afi SHEkLD EQUAL

iLifix SHQULS EQUAL QNE

iG?ERAND 1

fefififiANo 2

I7A0 ERRBRe AC SHDULD EQUAL fififig

/LINK SHGULD EGU&L ENE

IGPERAND 1

lflfififiAND 2

ITAD ERRQRo AC SHOULD EQUAL SQBfi

ILINK SHOULD EQUAL 0N5

IOPERAND i

IOPERAND 2

ITAQ ERPGR. AC SHOULD EQUAL fiflflfl

fLINK 3HOULD EQUAL GNE

{DQERAND 1

fQPERAND 2

I : AC SHOULD EQUAL
“

KLIHK 8%DULD EQUAL 3&8

!0PERAND l

/QPERANG 2

xTAs £2939; as SwaULa iguag gaga

ialax EHQULB gauag Ski



jfifl?waf”
ERSVRUCTLON TEST 1 aaglé v

‘

3237 $159 ¢gg
37;e 1664 TAD K7763

671; ;925 TAD «@923

@712 7439 32L
@713 7440 SEA

@714 7492 HLT

ITAD YES? 21

§?15 7239 SLA
5716 7199 ELL
5717 1965 ?AD K7773

3726 1924 YAD K8616

@721 $§39 $§L
9722 7449 SEA

@723 7592 HLT

ZTAD TEST 22

ms. 729;? an
5735 7$$§ ELL
S739 1§§§ ?éD K?774

a7g7 zag3 TAD Kgafia

e733 7439 st;
9731 7343 3:;
$732 759g Ht?

ITAD TEST g:
6735 7299 CLQ
QISS vzge 6L3gigs :99? TA K7776

9736 1922 $Ap K3392
@737 743a 3:;
9746 7449 52;
3741 ?§@2 HL?

fTAD YES? 24
$792 7??? GL%
3793 $196 CLL
fl7fi4 1354 TAD a7???

@745 g921 ?AD Kaaei

5745 ?439 SEL
@747 7443 325

375@ ?§92 HLT

iTAn YES? 25

@751 7299 CLA

5752 7169 CLL

e753 7925 CML
3754 1936 ?AD Kéfififi

B755 1036 ?Afi Ragga

5756 ?420 SNL
@757 ?449 32A

8760 ?462 ML?

g» amagaa7; ;3s§3 sgcg 1mg:
\

[GEERAND 1

IOfiERAND 2

ITAD ERROR. AC SHGULD EQUAL @Efifi

/;Iax SHGUED EQUAL ENE

fUPERAND 1

{OPERAND 2

ITAfi ERRDR AC SHGULD EQUAL fifigfi

/LiNK SHGULD EQUAL GNE

IOPERAND 1
xopzaguo 2

IYAD ERROR. AC SHOULD EQUAL mafia

[LINK SHQULD EQUAL ONE

/GPER6ND 1

IOPERAND 2

ITA6 ERRQR; AC SHDULD EQUAL ggaa

[LINK SHGULB EQUAL ONE

/OPERAND ;

/0?ERAND 2

/?AD ERRQRe AC SHGULD EQUAL gage

ILINK SHOULD EQUAL ONE

/0PERAND 1

/OPERAND 2

fTéD ERRfiRo AC SHOULD EQUAL @358

/LINK SHOULD EQUAL EERO



frfifiwfifg 3N3?QU$?§§% ?£5? 2 fiééig 31$: 5Vfiéfi”?i 23§§3 Sfififi iii”

i?A§ YES?

fi?é1 ?2$fi a

ayez $i§9 c

§?53 gags ? a 35777 zaEERawa 1

@764 1&34 Y a K2996 xepaaamc
2755 1&34 ?aa K2$®8 iGPERAMD
$766 $349 C%A

9757 ?%29 SNL

a7?9 ?§4a SEA

3771 $3$2 HLT xvéa ERROR. AC SHOULD EQUfiL gags

/LENK saougo EQUAL EERO

,2»

Ru?"
6""

a...

€03

{‘0

{TAD TEST 2?

9772 ?836 CLA

$773 $199 CLL

S774 3552 ?&B K5777 /OPERAND 1

$775 $932 TAD Kiflfifi IOPERAND 2

@776 £932 TAD Klfififi iDPERAND 3

5777 796$ CMA

1999 ?929 SNL

1061 7446 83A lTéfl ERRfiR AC SHGULfi EQUAL 6635

1052 V462 HL? ILINK SHOULD EQUAL EERO

ITAD TEST as

1993 ?2@a ELA

1054 719% ELL

1925 $951 $59 K6777 xogzaawo
19a5 1931 ?AD K9459 /0fiERAND

1667 3931 van K5469 {OPERANB

1615 $$aa fiMA

1a11 $425 SN;
’

.2 ?449 sag

,s*'?§62 HL? iTAu ERRGRe AC $HQULD EQUAL fifififi

iLINK SfifiUQD EQUAL zzfio

“MFA

ITAD TES? 29

cgg
CLL

?A§ K7377 {GPERAND l

TAG KfiEfiB XGPERAND 2

\J

m

”533

m

N®W§€ER€Q®E§Q®13$: $A§ Kagag EOQERAND 3

SHA
C393“
‘Ji‘vk';

3&5

ML? zTAa ERR

/L5%K 5H

P‘- Q {a \l

‘3

""15

‘8

“‘3
1'3"

5"“

31"“

“£15

“‘5!

.2)

£311-55

23;)

33'?

7.2?

$33"

5"“

‘3‘

{3}

an.

{*0

1:1”:

(#53

C5"

8R: AC SOULS EQUAL gagg

QULB EQUAL BER

152% 72@@ CLA

1926 2193 CéL

1927 ;§é7 rag :?fi7? w 5? d0 2

‘1E3@ @327 ”am 7 SE f”pE‘sNu 2

ifigi Egg? :&8 :vjfifi “sEPxNu 3

1532 ?§ifi Sfifi

1&33 :42? fiHL

gags 4i9 fiifi

1g33 7422 u*:
,

a {Paafla a; Saaamn “mng £35



{PQP«?;”
IN$TRUCYIDN TES? 1 @ALiB V141

1936

1337
196%

1341

1542

1643

1954

1%45

1566

1547

1999

1l51

1$52
1I§3

1354
1695
1656
1957

ilél

1661
1992

1663
166‘
1965
igéé

1&1?
197E

1&71

1E72

1973

1g74

1375

1976

1377

1166

1191

1162
1193

1164

1135

1186

1167

1110

7292

7190

gzaé
1E26
3626
7949

7939
V949
7532

7292

vice
1045
gags
1925
794a

7229
7549
,992

7239

7:10
ggo4
1934
1&34
794a
733a
7§49
?s92

$226
7105

1&63
1923
1fi23
7549

3???
7449

7432

7202
7199

1542

1322
1922
?04B

7920

fTAD 153T 31

ELA

ELL

?AD K7677

TAD Kfifiéfi

TAD K6540

EMA

SNL
82A

HLT

iTAD TEST 32

CLA
CLL

7A0 K7737

TAD K9626

TAD K9329

CHA

SNL
81A

HLT

ITAD TEST 33

CLA
CLL
TAD K7757

TAG K3916

?AD K5319

EMA

SNL

52A

HLT

iTAO TEST 3Q

Cké

CL;
1A3 K7767

TAD K9934

1&0 Kfigfié

CMA

SfiL
SEA

HLY

fTAD 7E5? 35

CLA
CLL

?AB K7773

?AD K69fl2

TAD Kfifig2

CMA

SNL

(

8~NAR~71
3

13:33 wags 1~13

ILINK SHOUL‘ WQUAL EERO

lfifiERAND 1

fDFERAND 2

fOPERAND 3

#TAS ERROR. AC SHOULD EQUAL 3&66

ILINK SHOULD EfiuAL ZERO

[OPERAND 1
IOPERAND 2

IOPERAND 3

[7A6 ERRGR: AC SHOULD EQUAL 5663

/LINK SHOULD EQUAL lERO

IOPERAND 1

IDPERAND 2
IO$ERAND 3

lfAD ERROR. AC SHOULD EQUAL E585

fLiNK SHOULD EQUAL EERD

/QPERAND l

/QPERAND 2

ififiERAND 3

lTAD ERRORe AC SHOULD EQUAL 596$

/LiNK SHOULD EQUAL BERG

{OPERAND 1

/GPERAND 2

/OPERAND 3



liéé

ilé?

iififi

1131

i152

11%3
1'“;qu

, -

r,“ (w
P

1133

1356

i157

?2@9

?1@9

3&4:
i§21
i§21
?963

?§2§
?§SE
7%32

?299
$15@

1921
7$16

Egaa
7592

$296

$199
gaze
79$9
$3é9
$662

7255
?i@$

£339
?§:9
?43@
7332

$2fi9

?lfi§
?325

1325
$516

?43E

7%92

vVu'; 19;;
It 2 5L] _

vlgg

?32®

$E§? a fizazg

tflflk
$143.3

fiLfi

?

iRAR T33? i

TAD

EAR

SEA

HLT

{RAE TES? 3

SLA

fiLL

?Afi

R£Q

82L

ML?

{SfiQ TES? Q

x7773

xgaaa

Kgfifil

KQQSI

K9536

K5599

!?A§ Efififififi Afi §fiDQLD EQQAL fiéfifi
A ififi gafigafi EQUéL EERB

£0?ER&ND i

iafiififlND 2

xGPERAND 3

/TAD Efiflflfi. AC Saguga gagAL fififig

/L1NK SHOULD EQUAL Esau

fifiDTATE PAfTERN

iRAR FAiLsfi. LINK DROPPEE A BiT

iLINK SHDULD EBUéL A ONE

{RBTA?E géTYERN

ifiéfi FAILEflc A6 PYfifiED u? a 81?
{A ONE 2N AC EQUALS THE ?1 fiED us BIT

XRAL FAILED. Li K QICKED UP A 83?
:aruu Quhnln rnuan Eran
ibélfif‘. vhuwegu hwurag, ink-“U

“5,51%, ‘3 x F JSKWZE "i" é. BL?
’

1‘ uuuuu f“)
1 1M; {gUiU EQUP’ LL*0



11%?
1161
11‘?
d..a,u-

1193
1194

1165

1166

1167
117%

1171

1172

1173

1174

1175

1175

‘2‘]

12:412

1215

1217

1229

5“
an

5

1221

1222

1233
1224

1225

1226

1227

1238

1231

1954
7910
734a—w'

7440

7492

7266
?190

?929
1920
791a

1033
7949

7459
7936
7992

TAQ
RAH
EMA

SEA

HLT

IRAR YES? 6

CLA

ELL

Cfit
TAD

RAH

?AD

CMA

SNA

82L
HLT

?RAR TEST 7
CLA

CLL
T49
853
I59
683
SNA
Sit
HLT

xaaa 7237‘s
CLi
th
we?
858
was

C%A

SNA

52L
HLT

IRAQ TEST 9

5L5
ELL

1A0

RAR

TAD

CMA

SNA

32L

HLT

*aevauciibu :53? : 91Lsa 91%;

K7777

Kéaéé

K3777

K4009

RS777

agesé

K6777

KIEQE

K7377

aa%aaw7;
i”

13:53 91%: :«1S
\

zaawm.£ 9ATTERN

ffififi FAELED AC DROPPEU A BiT
[A ONE IN AC EQUALS THE DREPPED BET

ZRGTATE PAYTERN

IRAR FAILED AC_AND LINK

ISHDULD EQUAL Hana

IROTATE PATTERN

ana FAILEQ Ac AND LINK SHOULD
IEGUAL eaba

IRQTATE PATTERN

IRAR ?AILEU AC AND LINK SHOULU

/EQUAL QQEE

/ROTATE PATTERN

fRAR FAELEE AC AND LINK SHOULD

/EQUAL @629



3232

1233

1234

1255
1236

1257
126%

12é1

1242

1263

12é4

1265

1266

12fi7

1259
1251
1292

1253

?2§9

?1$fi

3E31
?3;@

1867
$546

7%56
$455
$§62

‘3

i

.31» V}

E}

Cr:-

.:

""

M

£9

{‘33

3&3“!

IRAQ

(RAE

:‘i 9 A R

a a

F“ :3: L, Suck:

TES? ig

SEA

ELL

“FAQ i‘x‘

Réfi

?A5

SMA

gNA

§§L

HLT

YES? 11

CLA
ELL
?AB

Rafi

TAD

CMA

SNA

S§L

HLT

TEST 12

ELA

ELL

?A§

Rafi

?AB

Cfié

3mg

82L

HL?

TEST is

CLA

CLL

VQD

RAR

TAG

cm

SNA

Sgt

HLT

K3296

K7677

Kalgfi

K7737

K2942

K??57

E": f.
u

we
.,

at.‘cm‘lfi a;

ERQ?A?E 5A7?ERN

ffiAR FAXLEG AC ANfi LENK
KSflDULD EQUAL 9685

[RGTATE PATTERN

/RA§ FAXLEU AC AND LENK

IEQUAL @268

{ESTATE PATTERN

fRAQ FAZLED AG AND LIfiK

ESHBULD EQU§L fiSEQ

ififiTATE 9ATYERN

xaan ngLEfi AC AND LENK

iSMQULD E§5£L fifififi



Egggmgfr
zy§YRuc?IfiN T53? 1 ggLig gig; 3$%A3971

f
13i§3 fiflfii imi?

iifififfiUE?IfiN T53? a
\ (

/?&¥£ 2

IRAQ ?ES? 44

1276 729% SLA
2277 716% CLL

ifififi i525 7A3 agggg 7R37Af£ “Aziafiw

1391 79:3 Ra?

i3@2 i363 ?A§ K7767

1333 $949 gmg

i3a4 74§2 gag

13§§ $43§ SEL

1355 ?%$2 Hg? ffiéfl FAELED AS awfi Lififi

fgfifiuLD EQQAL fifig

Egg? 73$? 15

13%? 7236 figA

131a 71$? 3LL

1311 3624 7A3 K9515 XR§TATE PATTERN

1312 7&16 EAE

1313 1&43 7A9 K7773

1314 $963 CHA

1315 7499 SNA

1316 7536 33L

1317 7§32 HLT XRAR FfilLEO AC AND LENK

fSHOULD EQUAL fififlfi

ZRAR TEST 16

1339 72fl9 CLA

1321 71aa cLL

1322 1923 TAD K9694 IRDTATE PATTERN

1323 7915 RAB

1524 1341 TAD K7775

1325 7346 EMA

1326 7%85 SN;

1327 7530 SEL

133” $932 HLT ffigR FAILED AC awn LINK

iSHOULD EQUAL ggfig

ERAR 7E8? 17

1331 ?239 CLA

1332 7195 ELL

1333 1922 YAE KQQEZ fRfiTATE PATTERN

1334 $913 RAR
‘

1335 ifléfl TAD K7776

1336 7945 fifié

1537 7458 SNA

13$? 7436 SE;
1361 7492 HLT IRAR FAILED AC AND LINK

iSHOULD EQUAL @629

fRAR TES? 18

1342 7235 CLA

1343 ?160 CLL

1344 £921 TAD Rfififii /RGTATE PATTERN

1345 7%;9 RAR

1346 1954 TAD K7777

1347 7943 CMA

/—~“w.



EEEEEEIE EEE?RUQ?IEN W

iEEE

1331

1332

1353

1394

13§5

1336

1357

iSEg

1361

13é2

1365

1364
1365

1366

1367
1375

1371
1372

1373

1374

1375
13?6

1377

iéEE

1491
1432

1463

1464

1&93

1496
14%?

1415
1411

1412

1&13

‘4‘1‘3'
‘33E

4

7Q WES-“5‘53
E

E
E

vzaa

$1aa

L322
va12

792$
?§@2

$23

?;a@

$923
7312
7949
?432

7239

?;99
A929
7912
793E
?492

$299
7155
?mea

$929
E912

$§36
7&92

E299

7139

E923

iEEQ
7912

?EE@

7449

EEG?

EEEE

?lEE

E625

ifififi

?@12

E E
m
n5 “0

3

M

YES? ;
CLA

CLL

vaa

REE

mg
HL?

{RTE YES? 2

CLA
CLL

YAO
RTE

SEA

HL?

IRER TEST 3

CLE

CL;

?AD

RTE

SEL

ML?

TES? 6

6L5

ELL

EML

fAE

REE

SEL

HLT

IRTR

U ...3 '

J

‘4“M 3

KEEE?

KEEEE

K9699

K7777

:3 ’ {A

53;:
'

EEEAE”7E EE§E3 EEEE EEEE

iaaa ? :Lga is swa szx

xswaugc EQUAL EEEE

/RD?ATE EEETERN

EETE FAILED LENK DROPPED

/A SET LINK SHOULD EEHAL A ONE

/RGTATE EATTERN

lRTR FAiLED AC PICKED UP E BIT
fA ENE KN AC EQUALS THE EiCKEa U9 BET

IRSTATE PA?TERN

fETR LINE PICKED UP A 81?

ILINR SHOULD EQUAL EERO

/RGTATE PATTERN

ifiTR LINK PICKED UP A BIT

/LENK SHBULD EQUAL EERO

IRQTATE P‘TTERE’

/R‘R A: DEEPEEB E BI? : fiyi 1%

{AC :Qufi
‘v‘ 67‘?" _

. t?



xTfiaaa/r INSTRUCTION TEST 1 pggga

1421

1422
1423
1424

1425

1426
1427
1430

1431
1432

1433

1434

.1435
1486

14:7
4449
1441

1442

1443
1444

1445
1446
1447

1450
1451
1492

14:3
1494
1405
1496

14:7
1460

1491

1402

1463
1404
1465
1466
1467

1470

1471

1472

1473

1W52
7a46
7499

7430

7902

7290

7155
:936
7912
1051
794a

7599
7936
7962

7200

7100
1054
7012
aasa
7045
7990
79:0
7992

7260
7196

1&3?
7012
1047
7049
7990
7530
7502

7220

7100

1031
7912
$046
7045
7450
7430

7592

7200

7100

TAD

CHA

SNA

SiL

HLT

IRTR TEST 7

CLA

CLL

TAD

RTR

TAD

CMA

SNA

52L
HLT

IRTR TEST 8

OLA

CLL
TAD

aTa

TAD

DNA

SNA

33L

HLT

IRTR TEST 9

CLA
cLL
TAD

RTR

TAD

CMA

SNA

82L

HLT

IRTR TEST 10

CLA
CLL
TAD

RTR

TAD

CHA

SNA

SZL

HLT

IRTR TEST 11

CLA

CLL

K5777

K4000

K6777

K2000

K7377

K1000

K7577

K0400

K7677

9141

i

semannv1
,

13:53

IRTR FAILED AC AND LINK

JSHOULD EQUAL 0000

JRDTATE PATTERN

IRTR FAILED AC AND LINK

ISHOULD EQUAL 0000

IROTATE PATTERN

IRTR FAILED AC AND LINK

ISHOULD EQUAL 0000

IROTATE PATTERN

/RTR FAILED AC AND LINK

ISHDULD EQUAL 0000

/RDTAATE PATTERN

/RTR FAILED AC AND LINK

ISHOULD EQUAL 0000
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i?@?m§f€ ENSTRUC?E§N ?ES? 1

1é74

1$?5

1476

14??

1536

i561

1582

1593

1564

1505

1506

1597

1515
1511

1512

1513

1514

1515
1516
1517
1529

1521
1522

1523

1524

1525

1526

1527

1539
1531

1532

i533

1534

1535

1536

1537

15a9

1561

i562

1543

1544

1545

1546

1%3§
$912

1345
?@4a

795g
743%

7992

72fifl

?1aa
1927
79:2
1944
7949

7950
7480

7902

7269

7100

1026
7012
1043
7040

745$
7939
?592

72am
7109

gees
7912

1342
7942

?463
7439

7462

7295

$1wa

$924
$512

1941
vaeg

?4§g

yass

74a2

HLT

IRTR 725? 12

CLA

CLL

$AD

RYR

TAD

CHA

SNA

SEL

HLT

IRTR TEST 13

CLA

CLL

TAD

RTR

TAD

CMA

SNA

31L

HLT

IRTR TEST 14

CLA

CLL

TAD

RTR

TAD

CMA
”KIA

OWN

52L

HLT

[RTE

CLA

CLL

TAD

R?R

?55

EMA

SHA

SEL

HLT

!R?R

TEST 15

”.1“,

Thai if:

KEiEB

K7757

K0046

K7767

Kfifi20

K7773

£9619

K7775

IRTR FAILED AC AND LINK

/SHOULD EQUAL 3599

IRGTATE PATTERN

IRTR FAILED AC AND LINK

ISHOULD EQUAL 8969

IROTATE PATTERN

lRTR FAILED AC AND LINK

ISHOULD EQUAL 0669

IRGTATE PATTERN

iRVR FAILEG AC AND LENK

lSHQULD EQUAL GEGE

/ROTATE PATTERN

zDYE
gnlm FfiiLifi 1C AH

XSMOUL§ :QUfiL fifig



7?§%»37£ xaarauc7low Tag? 1 gagag was; aafiaa~7g
I

133§3 9&3? 3wgg

(
1%57 7579 *éga $LL V (

agsa gazs 7am xaaaa 7307775 QATTEQN

1551 7912 RTR

1532 iséa 756 K?775

1533 79a3 0mg

1554 7437 3N5

i§55 7432 32L

1§§6 7§52 HLT [RTE FAiLEE A6 awn LENK

”SHDULD EQUéL @359

fRTR TEST 1?

1§87 7259 ELA

xség 7199 aLL _

15$1 $822 TA? K§QQE iRfiYATE QAT?ERN

1552 7912 RTR
'

1563 745% , SNA

1554 ?42fl SNL
1555 7§92 ML? 737a $A§g£§a AC SHDULD EQUAL

gfiafifio LiNK SNGULfl EQUAL aw:
7979 TEST 13

1566 72$B cLA
1597 7:66 CLL

1579 1321 75c afiaax xRGTATE wArTsRN

1571 7912 nrn

1572 gags ?AD KS???

157$ 754$ CHA

1574 7950 SNA
1375 793% SEL
1576 75a2 ML? £RTR FAIgED. AC AND LINK

iSHQULD $3 3330

EQAL YES? i

15?? 7g§3 CLA
1598 ?1§B ELL
1591 1536 ?%$ fififigé XRSTATE PAT?ERN

:aaz ?%84 RAL

1333 ?§3@ fiEL

1694 ?449 SEA

iégg 7452 ML? :RAL $Azgifie AC SHSULQ EfluéL fifififi
- iLINK SHfiUQD EQUAL QME.

ffiéL ?ES? 3 ,

1666 ?29fi‘ aha

1667 7139 CLL

1&19 gEQE ?A§ fififiga ;R%?ASE $fiTYEfiw

1611 7964 RAL

1612 ?42% SNL
i613 744% 52%

1614 7462 HLT /RAL FAELEflg AC SHOULD EQUAL 2&96

/tINK SHUULD EQUAL ZERO

fQAL TEST 3

1615 7296 CLA

1616 716% CLL

1617 7026 CML



ifififiwaxfi 3N$TRB$?§GR YES? 6 P6616 V161 awfififim?i 133*3 géfii q 6?

6626 6626 666 66666 ffifi?é?€ 6A1?€fifl6 giflfifii
1621 ?§§4 RéL

1622 7636 32L

1623 ?4fi2 HLT x666 FAILuRE. AC SHOULO EQUAL 666:

/LIMK SHQULB EQUAL §ERO

IRAL TES? 4

1524 723% OLA
1625 ?198 CLL

1626 ?923 CML

1627 1354 TAD K7777 /RG?ATE PATTERN. LINKEI
1639 ?@E4 RAL

1631 $848 CMA

1632 7445 S§A

1633 7%32 HLT iRAL FAILURE. LINK SHOULD EQUAL ENE

IAC SHOULD EQUAL $393

IRAL TEST 5

1636 7266 CLA
1635 7196 cLL
1636 6934 TAD K2392 IROTATE PATTERN

1637 7964 RAL

1666 6953 TAD K3777

1641 7966 CMA

1662 7956 3N6

1663 ?§39 SEL
1664 ?§92 HLT IRAL FAILURE. AC SHOULD EQUAL 6966

/LINK SHOULD EQUAL ONE

IRAL 765? 6

1665 7296 CLA
1646 $199 CLL
1647 6%32 T68 K6666 [ROTATE FATTERN

1656 $664 RAL

1551 $952 TAD K5777

1663 $956 CHA

ié§3 7%$@ SEA

1654 7662 HLT /RAL FAILURE. AC SHOULD EQUAL 6666

ILINK SHOULD EQUAL EERO

iRAL TEST 7

1655 ?236 6L6

1656 7196 CLL
1657 $331 TAD K9499 IRfiTATE FA?TERN

1666 ?596 R66

léél 1961 Tag K67?7

1662 ?fi4a EMA

1663 765% SN6

1664 743% SEL

1665 ?462 ML? /RA; Fézgufii. Ac SHOULD EQU6L @629

fLiNK S%%%£.§LSB EQUIAL EERO

fQAL (EST 8

1666 V269 866

16537 $31625 {ELL

167$ 163% $65 JELQ XRSTATE VATIERN

1671 ?934 96L



33?aaavzan ?§3? 1

16??

1673
:3 A‘E"

390’"

1675

éé?é

16?7

17%@

1731

17§2
17%3

1?®4

i7§5
1796

17%?

1733
1711

1712
1713
171a
1715
i716

1?17
1723

i721

1722
i?23

i?aé
i?23
i??6
1?27

3732
i?31

1?32

1733
1734

1?35

1?§é

1737
174%

17a:

1742

1743

1744

1745

1746

17d7

$339
yaaa

$§§e
?439

$422

?2fi6
7199

1527
?2@4

@947
?669

?§5@
$43e

$692

?258
$1§3

£636
?934
1&66
?§4e
$553
?§3!
$$IZ

$229
$199
1325
nga
ggas
Tgéfi
?§§a
?$39

?%92

$233

71fi9

$934
?s34

igaa
$fi49

$439
;433

7432

?2@@

?199

i923
?9@4

gaas

$33

?aa

EMA

gag

QEL

HLT
$33? 9

GLA

ELL
?A@

RAL

TAD

EMA

SNA

82L

HL?

XRAL

lfiAL 76$? 1

CLA

CLL
?AD

HAL
Téfi
flHA

SNA

32L
HLT

iRAL ?ES? 1

ELA

EgL
?Afi

QAL

TAfi

Cfia

Efifi

$§g

fig?

ffiég

€L£

fig;

€A§

QAL

ffifi

QM;

SNA

$E;

QLT

5L5

CLL

TAD

RAL

TAD

‘ «9 5'?" 5%

if 3%
C‘w‘

7

3 I?» t) ( 7;
'

1g gfi§i
{

K73?7

fiaiag

K7577

KQ§Q§

K?fi?7

1

afigag

a??3?

gfifiifi

x7?§?

Kfififié

K7767

8.

fl, fist ‘fi ‘53
g

ah «N W m T3 «> an ”W .15.“”93

ERAL FAILURE AC EHHULa QQUAL 3;

XLINK SMSULU EQUAL EERG

§$TTERN

JRAL FAILMRE AC §HOULD EQUAL
ILINK SHQQLD EGU%L EERD

aaaa

{RfiTA?E fiATTERN

{REL FAILQWE A3 §HGUL§ EGUEL 693$

fLINK SfifiULD EQUAg fl EERO

5'
"

g ’i”“" e,
1"“ g .

3A? §Lr3§i if??? z
‘ M39 ”33%;“ :iQ)‘

E 533‘: “
2a a 3 i? ’5:

fiaw5?af\ ‘v;{‘$ 3;:1‘3EJ I w. ‘ 54:1... S

*a

ZRSTATE QékTYEfifi

gag; ?;:;uag AC gafiugfi Eaufig gage

fLifiK Safiuga EQUAL a 259%

gm? ATE PATTERN



iP§§~33E IE$VRfiC?30N TES? 1 $§Li§ yiai

i?§%
17§1

1752

17%3

17§4

17§5

1736

1797
17é9
1761

1762

17§3

17é4

1765
i7é6

i767

1779

1771

1772

1773

1774

1775

1776

1777

2969

2591

2952
2693
2654
2635
2966

2337

2a19
2&1:

2912
2913

2314

29i§

351$
3&17
3QEQ

QQEi

3922

N f0 Sr

Efififi
348g

?%39

7%32

$296

$359
$922
759a
15$?
7flé9
?%5@

?63@
$4fi2

$299

$159
;@21
?g94

gea1
756a
7550
7539
?902

7239

$399
7929

7394
3949
?949

$4sg

$§ss
7%92

GHQ

33A

82L

HL?

ffiAL YES? i4

CLA

CLL

7A3 H9992

RAL

TAD K7773

EMA

SNA

BEL

HLT

{RAL TEST $5
CLA
CLL

TAD K0651

RAL

7A0 K7775

CMA

SNA

82L

HLT
IRAL TEST 36

CLA
CLL

CHL

HAL

TAD K7776

UNA

SNA

SEL

HLT

ERTL TEE? 3

CLA

ELL

TAG Kgfiflfi

RTL

SNL

ML?

3 5..

CLA

ELL

TfiB Kfiflfifi

RTL
M‘s:

"$31!:

wg?

,m“ MFA”
fl

afisL EL;{ 3

F‘dgé

3mmaaw?a i§3§3 gggg zmgg

XRAL FAELES i5 SfiSULS EQ”&L 3&3

zLINK EHGULQ EQUAL A fiER

fRfiTATE PAT75RN

IRAL FAILEE AC §HOULD EQUAL fifigg

/L1NK SHUULD EQUAL A EERO

iROTATE PATTERN

IRAL FAILED AC SHOULD EQUAL 260G

/LINK SHGULD EQUAL ZERO

fRAL FAILEE AC SHOULD EQUAL 5539

lLiNK SHQULD EQUAL EERO

JRTL LINK BRSPPEfi A BIT

ILENK smauga EGUA, A ONE

KRDTAYE fiA?TERN

"" T ['4 f-s x7 "1» "-4 r i") l ‘

x .K i a.

fflli, 51b 919$”; L}: is B
A

r
9a

i

«a fiNE EN éc EQUALS THE fiifififfl MP



fi?§?~5{’ :33?aucvzan 7:3? 1

(
2&24

2925
2%?6

2927

Egan

2331

EEEZ

2633

2%34

2335

2936

233?

Zfiéfi

Egél

2942

2343

2044

2655
2546

2567

2%59

2051

2952
2553

2554

2%?5
2336

RES?

236%

Qfiél

Qflég

23%3

23é4

59

613

5x3

ix}

eamem ahm xi

(3»

2%7fi

2971

23??

3&73

2fi74

2375

23?6

23??

2139

7;$a
1336
?@@6

vaaa

Vafiz

72$?

7196

7923

3629
?566

?439
$432

7299
$193

7azo

1954
7356

7%43

754$
7§aa

?296

$190

gass
?235

$955
?aaa
?493

$335

$§§2

?2@@

?:@9
gasa
?%§6

féfia

?%25
32am")
1' '19:.

7296

?168

i932
?956

gas;
vaaa

?43@

?43%

$462

ch

TAB

RTL

SEL

HLT

;R?L $587 a

CLA
ELL

CML
?AD ,

RTL
SfiL

ML?

IRTL TEST 5

sLé

CLL

CML

7A0

R?L

EMA

SEA

HL?

{ETL YES? 6

‘s; V? {A}

“’1’:

~15

2%

“~32

*4

if"

29-

Pfibifl giéi

l

agggg

2?. ZS Q {:13 {‘32

K7???

A x. ,-.,,

K3???

3aMARv71 133

ffifiTaffi WAT

xfieTATE §§$

KRTL FAILUfiE. LENK

xgzwx SfiOULD EQUAL

JR6?ATE Ft?

DRQPPKEY; $£ELUREe

ififi?§?€ §A?

f§fiT§§i fig?

‘

AND

33 gags 1L

YQQN

r???» was
4

33$

‘g-ERN

9ICKEB BE A

A EERS

TEEN

ED A 31?

?ERN

: as 7
: g“ k r

a“ i a. n :4 5 “: it»; i i L. §§

YEQN

LENK SESQLQ

‘3?

EXT

VQQQL a



£?E?~%
I

i n.

‘5»:
'? 3%$?RUCV§$H TES? 1 @ggié $3.

2191~

21$2

2153

2194
2195

2196

2137

2115
01115'. 1- H

2112
2113

2114
2115

2116
2117
2126

2121
2122

2123
2124

2125
2126
2127

2136

3131

2132

2133

2134
2135

2136

2137
214%

2141

“L? i1“ 35 5‘55

iR?L YES?

CLA

ELL
TAD

RTL

TAD

EHA

SNA

55L

ML?

K9499

X m \3 \S \3

{RTL TEST i9

CLA

ELL

TAD

RTL

TAD

CMA

SNA

83L

HLT

K9230

Ké?77

lRTL TEST 11

fiLfi

CLL

YAD

RTL
Tfifi

CMé

ENA

BEL

HL?

K6166

K?377

KRTL TEST i2

6L5
CLL

féD

37L
Tfia

C. M A

:3 $3 9‘:

33L
.1

ML?

.‘mda

ELL

Yaw Kfififfi
“myi
u I b.

_ A if", VT “r".gafiag g;

V

4(-id 5323

{RETATE PATTERN

IRTL FAILED AC AHD LINK ENDULD

/EQUAL EERO

/ROTATE PATTERN

IRTL FAILEE AG AND LINK SHGULD

/EQUAL @969

JRfiTATE PATTERN

KRTL FAILEE AC AND LINK SHEULD

{EQUAL $965

{RQTATE PATTEP“

XRTL PAILED AC ANS LENK SHSULD

fEQUAL fifigfi



3 gAfii 33%?a»;’Jj3fgfiswag? Ifififfiuc?lON 7:3? 1 aagt 3wfififim7i
,

$3?g...)- I& ,< 3% u

aAwuflwaw W"

Jib

0-8

N

2“

“0

“39

\3

"H

-

i‘fl

“3

5%

$343

m

N M 3-“ (3‘

2217

2226

2221

2222

2223

2224

2225

7§§9
7&39

?§92

$2$9

?;ae
2924
7g96
was
?939

$559
7439

?§92

72gq
7156
%@?§
?936

1944
70a5
7559
?4§fi
$962

$235
7;es
$$22
7$$§
i%43
$949
?4§5
$339

$452

72ga

3153

i321
3%gs

1542
3333

7459

$43z

$432

?299

?199

?929

?956

( "

.1: Egg. flag ‘3
EMA

32L
HLT

L YES? l4

CLA
ELL
$39 fififiifi

§TL
TAD K??37

CMA

§NA

§§L

HLT

ERTL T587 15

GLA
ELL

$53 Kgfigé

RTL

TAD K??§7

EMA

SNA

33L
HL?

EETL ?EST 1%

CLA
ELL

fag Kfigfifi

QTL
féQ §?7§?

6&3

3&3

3%;
i 5‘

13»

33v

(E

8"”

2;“;

232 \a flu

IRTL FAIgEE AC 3N3 Lififi

anga; @335

iRGTA?E FATTERN

45"" «wEhTL FAELEQ AC 530 LINK

ififl?é?§ FATTERL

fRTL FélLEfi AC éNfi LINK

(EQUAL @555

EQGTATE fiATTERN

J "5’ ‘ :1. -._ q.
‘

‘3.
‘ i»

‘

1.: . r,“
n

gfizL rEELEQ AH gfiu Liwfi

gfifififlhfl EfiUfiL Cgfifi

xfifg VéELEa AC AME LIME

f3fi$fl>§ gifié; SEEE_..‘

“5 $33 53 U L {T7

EHGULfi



N

M

m

90

5’12

m

n)

N

Eu

W9

{43

1m}

w

m

"3%.”?

m

5-“

{a

Mi

{3“

2233

2234

2235
2236

223?

2353

3251
2262

2263

2264

2245
22G6

2267

2299

2251

22§2

gags
228a

93§5

3256
2237

£256

2291

EEQZ

EEéS

2264
2265

22fié

2257
22?9

3271

2272

2273

‘OHJRQKHU (NHJHJNHU SPQCfiUTh159%»:st

?2ga

7159

7946

$992
3&6?

7%25
7&49
$492

KHJQNNW%‘6N“% 435821335331 Ellamsxm@i»

1*"

fix!

3.?"

3’.

'3’

P

3”

€27

Inmtnraw ‘fir

iBSH $ES? i

CLA

JLL

Cflfi
SSH

EMA

SN

SEA

HLT

fiasa $ES? 2

ELA

CLL

EHL
BSH

6N5

SNL

HLT

i83H YES? 3

w:

w» M \d w $14

K7799

E 3'33» (S: W M

m t3} m M

CLL

W t": if“. a #3 @mfiéfifl?i
‘

‘3 57“ V33 F‘ a?! v

_
r.

I

’1”
'

3:? .5
‘ ‘ i: _ if?

‘2; g ($3 3'" (in :55: ~29! (3?;{3‘35

ERTL FAILED AC AND LINK

{SHOULD EQUAL ggfis

5A3=7777
{swAP 3Y?ES AC SfiQULfl EQUAL 77??

#010 LINK SET?

/83H FAILED

IAE AND LINK SHUULDfifififlfi

lLZfiKfii
lSHAP BY?E3 AC SMOULE EQUAL 8856

KBSH CAUSED THE LINfi
ITG RCTfiTE

IA$=77fifi

ISHAP EYTES AC SHGULB EQUAL SE77

{£C877?7

iAExfifigfl

£83H 5AZLED AC

XSHCULD=5539

fiflfi LifiK

ENQULD Er£9 7735U,1' r.»

IBSH FAILED AC

/SH38LB=$8$§

AND LINK

é: SHOULS EQUAL 73$7



/PDP~8/E INSTRUCTION TEST 1 PAL10 V141

( 2351 7429 SNL f

2322 7440 SZA

2303 7422 HLT

IBSw TEST 3

2324 7322
'

CLA CLL CML

2325 $125 TAD K7227

2306 7222 85w

2327 1125 TAD K7027

2312 7042 CMA

2311 7432 SZL

2312 7440 52A

2313 7422 HLT

IBSN TEST 7

2314 7229 CLA

2315 7162 CLL

2316 $102 TAD K5225

2317 7322 SSH

2322 1132 TAD K5225

2321 794a CMA

2322 7422 SNL

2323 7440 SZA

2324 7402 HLT

IBSH TEST 8

2325 7262 CLA

2326 7123 CLL
2327 1133 TAD K2552

2330 7692 88w

2331 $163 TAD K2552

2332 7246 CHA

2333 7929 SNL
2334 7943 SEA

2335 7462 HLT

/GROUP 1 OPERATE TEST 1

2336 7222 CLA

2337 7102 CLL

2342 7249 EMA

2341 7222 cML

2342 7322 CLA CLL

2343 7420 sNL

2344 7449 SZA

2345 7422 HLT

/GROUP 1 OPERATE TEST 2

2366 7222 CLA

2347 1256 TAD x2525

2352 7242 CLA CMA

2351 7640 CMA

2352 7442 SEA

2353 7422 HLY

B-MAR-71 13853 PAGE 1'29

( 1..

/asw FAILED AC AND LINK

ISHOULD EQUAL 2222

/SHAP BYTES AC SHOULD EQUAL @776

IBSN FAILED AC

/SHOULD EQUAL @360 AND LINK=1

lAC=5225

ISNAP BYTES AC SHOULD EQUAL 2552

IACS7777

IBSH FAILED AC AND LINK

ISHOULD=EEGB

IAC=2552
lSNAP BYTES AC SHOULD EQUAL 5225

IAC37777

IBSH FAILED AC AND LINK

ISHOULD=EEEQ

ICLEAR AC

/CLEAR LINK

iAC EQUALS 7777

/LINK EQUALS ONE

/TEST COMBINATION

/CLA CLL FAILED: LINK SHDULD 22 2

/AC SHOULD EQUAL @266

JAC EGUALS @239

IAC EQUALS 2525

/TESI COMBINATION

/CLA CMA ERROR. AC SHOULD



{PDfivs/E INSTRUCTION 7E3? i

2354

2355

2356

2357

2360

2361

2362

2363

2364

2365

2366

2367
2370

2371

2372

2373

2374

2375

2376

2377

249%

2461

2492

2403

2404

2465

2466

2467

2416
2411

2412
2413

2414

2415

2416

2417

2429

2421

2422

7260

713%

7949

7146

7420

7440

7402

7165

7026

7296

7042

7349

7940

7420

7449

7492

7200

71a0

794a

7229

7430
7940
7462

7106

7220

7120

7926
7462

7130
7125

7420

7402

712%

724B

732%

7438

744%

7402

7349

PAL1O V141

/GBOUP l OPERATE TEST 3

CL4

CLL

CMA

CLL

SNL

SEA

HLT

CMA

lGBOUP 1 OPERATE TEST 4

CLL

CML

CLA

CMA

CLA

CMA

SNL
SZA

HLT

CMA CLL

IGROUP 1 OPERATE TEST 5

CLA

CLL

CMA

OLA

SZL

SEA

HLT

CHL

1 OPERATE TEST 6

CLL

CML

CLL CML

SNL

HLT

lGROUP

3 3 D i 4

4 4 wW5 0‘)ibnuur
‘

CLL OML

SNL

HLT

fGROOP 1 OPERATE TEST 8

CLL CML

CLA CHA

CLA CLL CML

SEL

SEA

HLT

IGROUP l OPERATE TEST 9

CLA CLL CMA

OwfiARv71 13:53 ~36PAGE ?

/AC=7777 LXNK=1

/TEST COMBINATION

lCLL CMA FAILED.

/SHOULD BE ZERO

AC AND LINK

/LINK=1

/AC=7777

[TEST COMBINATION

iCLA CMA CLL FAILED.

/LINK SHOULD BE EERO

AC AND

/LINK=@
IACI7777

ITEST COMBINATION

ICLA CML FAILED.
IOOOO.

AC SHOULD EQUAL

LINK SHOULD BE A ONE

ILINK=1
/TEST COMBINATION

ICLL CML FAILED.

/LINK SHOULD BE A ONE

/CLL CML FAILED.

ILINK SHOULD BE A ONE

/LINK=1
/AC=7777

/TEST COMBINATION

/CLA CLL CML FAILED. LINK SHOULD

/BE 1: AC SHOULD BE EERO

/LINK=9. AC=7777

(fl



lfififiwafg 3N§?RQCTIDN ?§3? 1 ?AL13 V3§1 8~NARw71
I

13:93 3A5? 1631
(

EéES ?33% ELA'EKL 6%g/ EYES? cefi5;_ (30»

2424 743$ 35L
2425 ?4é8 SEA

'

3435 7492 ML? lCLA CLL CML FfiILEDe LENK ngULD

iBE 1, AC 8HGULU BE EERO

IGRGUP 1 GFERATE 7337 15

2427 734$ CLA CLL CHA IAC=7777g LINKgfi
2439 7966 EMA CML iTEST COMBINATION
2431 $58@ 33L
2432 7449 SEA

2433 7492 aL? /CHA CML FAILED. AC SHOULD $5

iflfiflfl LINK SHOULD EQUAL ONE.
IGRDUP 1 OPEQATE TEST 11

2434 73a3 CLA CLL IAC AND Lxmxao
2435 1955 TAD K2525 IAC=2525
2439 734: CLA CMA CLL xvasr COMBINATION

2437 79d5 cMA

24‘s 7§al SNL
244; $449 82A

2442 7492 HLT /GLA CMA CHL FAILED. Ac SHOULD as

10969: LINK SHOULQ EQUAL EERfi

IGRQUP 1 OPERfiTE ?EST 12

2443 7599 CLL CLA IAC AND LINKaD
2444 $856 YAD K2525 IACwZSES

24¢5 i163 CLL fiHA CHL ITEsT COMBINATION
244$ 1956 TAD K2525

2447 7945 EMA

24§6 ?§39 SEL
2451 ?§éa S§A

2452 $492 HLT /CLL EMA CML FAILEDe AC SaOULD BE

#3963: LINK SHQULG EQUAL ONE
i$gfiUP 1 QFERATE TEST 13

2&53 ?335 CgA CLL

2434 7fl29 CML xac:fiaaa. LiNKz;

245$ ¥166 ELL Cfié SML iTES? COHSINQYISN

2456 ?$49 EMA

24%? 7536 Sgg

2469 7éée saa

24%; ?432 Mg? /CLL CMA CML FAILED. AC SH3ULD
[SE @639. LENK SMCULD BE ENE

vn{GQGUP i OPER§?E V€ST 14

24é2 ?3aa SLA CLL

2463 1955 TAD K2525 /ac=2§25, LINKaQ

2454 7366 CLA CLL CHA CML /?EST COMBINA?IGN

2455 784a cma

2466 7436- SE;

2437 7449 Séé

24?9 7492 ML? ICLA CLL EMA CM; FAILEDe AC ggauLa

/8E gaaa LINK SHfiULD Eauag awzg

_

fGfifiwfi 1 OfiifiéTE Tag? 15

247; $629 CLA CL; sag

r’NV
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fw§?~%/E 2§§?RUCYZS% ?€§? l Fégifi %i£; amwfifiw£é ifi5§3 éagi Ema?

3%?2 ifififi : g x€7:§ xA§wgs§ag a

2&7: 73§a fiLé CL fifia ,ég JELE? czaa:ma‘€a&
2474 735$ cg;

2&75 7459 33
,.n . a

2477 74a2 fig? KELA CLL EMA CML FQELED. g rm

XSE fififie LENK SHfiULD Eeugg 3mg

2536 fzfifi 6L5
25a1 1796 7A0 K2525 gAesgggg
2532 7231 ELA IAC x7537 CQMBZNATXQN

2553 3346 7A0 K7779

2534 7%45 CfiA

zfiss 74é9 SEA

2566 7962 ML? isLA 1A0 FAXLED
7A3 SHOULD EQUAL ggfig

{GROUP 1 GaEaATE TEST 17

2597 7330 CLL CML CLA

2519 $935 750 K7776 IAca7776. LINKR;

2511 7191 eLL iAC 77EST CGHBINATIQN

2512 7946 CMA

2315 7526 swL

25$4 7966 SEA

2518 7492 HLT ICLL IAC FAILED. AC AND LXNK
{SHOULD EQUAL EERO

gcaaup 1 opgRATE 7337 13

2336 7329 GLA CLL CWL

2337 agaé TAD K252§ /A§32§25 LINKzi

25§5 7391 SLA ELL zac ITEET CUMBSMATION

2321 gaag TA? K7776

2732 7gée CHA

2533 7%72 SHL

zsga 7§49 3&5

7452 EL? ifiLA ELL IQC FAELED. ac gas LZHK
ffiHSULD 8E ZERO

:9 3.31 {w U3

ifiRGQ9 1 O§ERATE TEST 1?

2:26 7556 ELA CLL 7ACBQ LzNana

2337 73%: 33; 3A8 77537 camazwAfioM

2535 7%39 SEL
233: ??é9

'

SEA

2333 7932 HLT iCHfi :AG FAILED. AC SHOULD'EQUAL
ffifififie LERK SHG'LD EQUAL ENE

EGRQUP 1 GPEQATE TEE? 2%

?’JS 73§a CLA CLL

2535 i956 7A3 KE§2§ gggnzfigg LINgxg

2535 724: CLa CHé :Afi /7EST COHBiNATIQN
2736 7439 sag

2537 7449 35%

2346 V 52 HLT fCLfi Cflfi 3&3 FAELED; AS SHGQLQ

figfiaL fifigfic Liam SHSULD BE aHE?

IS?GU? 1 aSERATE ,ZS? 3;

3553 733% SLL Ctfi g7; /ébf$fififi LiMKfii

Efiéa 1%21 72$ Kfififii ffiffifififii

K. ‘1 (a



xyaawezg stvauc?ze~ T25? 1 sagag V141 saHAR~71 13:53 PAGE 1mss

( 2&43 ?141 CLL CMA ERG f grasr cawai ZGN £
§8$4 $545 CMA

2545 $429 SNL-

EEéb ?549 335

2547 vawa ML? /CLL CMA zac FAELED. AC SHQULD a:

igfififi LINK SHOULC HE E

lGRQQP 1 OFERATE T53? 22

255% ?320 CLA QLL CML

2§§1 1856 TAS K2525 léC$2525 LINK31

25§2 ?541 CLA CLL EMA IAC f?EST CSM81NATION

2553 745% SEL
2554 7443 SEA

2555 7452 HLT /CLA CLL CMA IAC FAILED. AC SMOULD BE

/§999. LZNK SHOULD BE ONE

IGROUP 1 OPERATE TEST 23

2556 7359 OLA CLL

2557 1%55 TAD K5252 IAC=5252 LINK=6

2569 7341 CLA CLL CHA IAC fTEST COHBiNATION

2561 743! SEL
25¢2 744E SBA

25¢} 7462 HLT ICLA CLL CRA IAC FAILEE AC SHOULD
IBE 605$. LINK SHOULD BE ONE

IGROUP 1 OPERAVE TEST 24

2594 7330 CLA CLL

2555 155: TAD K7776 IAC=7776 LINKaa

2566 7921 CML XAC /TEST COMBINATION

2567 7949 CMA

2573 7?:6 szL

2571 7545 32A

2572 7492 HLT JCHL IAc FAILED AC SHOULD 92

Ififififl. LENK SHOULD 8E ONE

JGRGUP i 0§ERATE TEST 25

2573 732% CLA CLL CML

2574 ifiéfi TfiD K7776 [AC x???5 LINKal

ES?5 ?921 CML IAC i?ES? fiGMBINA?iDN
257. ?@46 EMA

2577 ?425 swg

26%9 74%9 SEA -

Zéfil 74fi2 ML? fCMg EAE FAILED. kc SHfiQLE BE

ffigfifi» szfi swauga as 2535

#GRSUF 1 afiagara ?53? 25

5&32 7335 CLé CL;

2623 i956 $Afi K2535 xaa=2525 LENKEQ

25a4 7221 cgs CML 1A8 ;?EST csxaiNATzom

25%5 i846 ?AB K77?é

2636 ?&A@ CHé

sag? 7439 32;

261% $443 33_

25$: 7452 gt? ffihé CML :ac FAILEB$ AC Sgfiugfi g3

xzfige. LiNK SHOULC EQUAL am;

fSQGU? 1 GVERAEE VEST 2/

5 $325 CLA CLL CML /A5:2§23 Lamazl
3 i34$ 7A0 K7?76 /Ac=7;76



H?Q§w$/€ ERSTQUC?§3N TES? 1 §6615 V141 82H632?1 133§3 $685 iwfifi

26I6 2621 CL; CfiL :As xIESI 63662.67:26

262$ ?§63 EMA

26:6 \?632 SiL

2617 744% SEA

2626 ?462 HLT fCLL CHL {AC FAILURE. AC SHGULD BE

Iaaaa. LINK SHUULD EQUAL aNEI

Isaoup 1 O§ERATE YES? 28

2621 7366 CLA CLL

2622 1366 TAD K7776 IACa7776 LINKfig

2623 Vial CLL CML 1A5 iTEST COHBINATION

2524 $566 EMA

2625 7636 56L

2626 2640 33A

2627 V462 HLT ICLL CML IAC FAILED. AC $HGULD
/BE 6366. LINK SHOULD BE 6N:

IGEOUP 1 OPERATE TEST 29

2639 7533 CLA CLL

2681 1256 I66 K2325 IAC=2525. LINKaB

2632 7321 CLA CLL CML IAc ITEST COMBINAYION

2633 1946 TAD K7776

2634 7946 CMA

2685 7939 SEL

2636 7640 836

2637 $922 HLT ICLA CLL CHL IAC FAILED. AC SHOULD
IBE 6696. LINK SHOULD BE 0N:

IGROUP 1 OPERATE TEST 39

2666 ?326 CLA CLL CHL

2661 ifi56 ?Afi K2325 xAC=2525 LINkli

2642 ?$21 CLA ELL CML IAC ITEST COMBINATION

2663 6569 TAD K1776
‘

2666 ?§%z GMA

2665 $936 32L

2646 ?66@ S§A

2667 7662 HLT ICLA CLL CML IAC FAILED. A6 SHOULD
IBE 6666. LINK SMOULD 8E 6N:

iSRQUF i G?ER6?E TEST 31

265% 2363 CLA CLL

2651 1521 YAB fifififii IAC=8351 LINK=G

2652 7961 5M6 cmL 1A5 /TESI COMBINATION

2663 ?@48 CHA

2664 2439 52L

2665 7448 SEA

2555 $662 HLT /CMA CHL IAC FAILED. AC SHSULD
ZBE 2226. LINK SHOULD BE DNE

x66oup 1 Q2ERATE TEST 32

2657 2326 OLA CLL CHL

2669 1621 TAS K2691 /AC:3621 LINK=1

2661 7561 :66 CM; iAC JTES? CSHB!MA?I@H

2662 2666 26A

2663 7626 SNL

2664 €469 3&6



IPDFw5!" INS7§UCTION TEST 1 PALlD V141 OmNAR'71
,

13833 @662 1&33

2665

2666

2667
267D

2671

2672

2673

2674

2675

2676

2677

2750
2751

27l2

27fl3

2794

2795
2766

2707

2719

2711
2712
2713

2714
2715

2716

2717

2723
2721

2722

2723

2724

2725

2726

2727
2730

2731

2732

2733

2734

7€D2

7562

gafie
7261

7929
7930
7492

732%

1856
7261

7430

7446

7902

7366

1321
7161

7a49

7436
7440
7492

7329

1a21
7161
7649
7439
7946
3422

7336

;956
7361
7426

7446

7492

7366

721a

3953
7943

7420
744g

7462

I

I

HLT /CNA CML ILL .AILURE. AC SHOULD 8E
I

/0056. LINK SHOULD BE EERO
fGROUP 1 OPERATE TEST 33

CLA CLL lACzBEQO LINKafl

TAD K2525 /AC=2525

CLA CMA CML IAC /TEST COMBINATION

SNL

82L
HLT ICLA CMA CML IAC FAILED. Ac sHouLg

/BE GOOD. LINK SHOULD BE EERO

IGROUP 1 OPERATE TEST 34

CLA CLL CML

YAD K2525 IAC=2525 LINK31

OLA CMA CHL IAC iTEST COMBINATION

83L

SEA
,

HLT /CLA CMA CML IAC FAILED. AC SHOULD
/BE 9060. LINK SHOULD BE ONE

IGROUP 1 OPERATE TEST 35

CLL CLL

TAO K0901 /AC$BDD1 LINK‘B

CLL CMA CHL IAC /TEST COMBINATION

CHA

52L
SEA

HLT iCLL CHA CHL IAC FAILED. AC SHOULD BE

IDDBO. LINK SHOULD BE ONE

IGROUP 1 OPERATE TEST 36

CLL CLL CML

TAD Kflfifll [Actflflgl LINK=1

CLL CMA CML IAC /TEST COMBINATION

DNA

SZL
SEA

HLY /CLL CHA CHL IAC FAILED. AC $HDULD BE

19996: LINK SHOULD BE ONE

IGROUP 1 OPERATE TEET 37

CLA CLL
.

TAO K2525 iAC=2525 LENK=6

CLA CLL CHA CML IAC iTEST COMBENATEON

DNL
SEA

aLT lCLA CLL CMA CHL zAc FAILURE &C AND

/LINK SHOULD EQUAL EERO

ESRDUP 1 ODERATE TEST 38

OLA CMA CLL CML /AC=7777 LINK=1

CLL RAR lTEST COMBINATION

YAD K3777

DNA

SNL

SEA

HLT /CLA DAR FAILED. LINK AND

/AC SHOULD EQUAL ZERO

IN»
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/GROUP 1 fifiERA7E TEE? 39

2735 7562 CLA CMA CLL CHL x6067777 LINK21

2736 7224 CLA RAL {TEST COMBINATION

2737 1942 TAD K7776

2742 7242 CHA

2741 7926 SNL

2742 7942 526

2743 7422 HLT /CLA RAL FAILED LINK 6ND

/AC SHOULD EQUAL EERO

IGROUP 1 OPERATE TEST 4%

2744 7322 CLA CMA CLL CML /AC37777 LINK =1

2745 7212 CLA RTR ITEST COMBINATION

2746 1952 TAD K5777

2747 7640 ~ DNA

2752 7922 SNL

2751 7440 SEA

2752 7422 HLT ICLA RTR FAILED. Ac AND

ILINK SHOULD BE EERO

IGROUP 1 OPERATE TEST 41

2753 7362 CLA CMA cLL CML 742-7777, LINK81

2754 7226 cLA RTL 77:57 COMBINATION

2755 1941 TAD K7775

2756 7942 CMA

2757 7420 SNL

2762 7942 524

2761 7422 HLT ICLA RTL FAILED. AC AND LINK
/5H0ULDBE ZERO

IGROUP 1 fifiERATE TEST 42

2762 7322 CLA CLL CML

2763 1926 742 K2242 76252242 LINKaI

2754 7112 cLL RAR ITEST COMBINATION

2765 1944 TAD K7757

2766 7242 224

2767 7422 SNL
2772 7442 52A

2771 7422 HL7 {CLL RAR FAILED. AC AND LINK

lSHOULD BE ZERO

IGROUP 1 OPERATE TEST 43

2772 7322 CLA CLL CML
'

2773 1926 TAD K2242 /Ac=2242 LINK=1
2774 7124 cLL RAL x7557 COMBINATION

2775 1246 TAD K7677 I

2776 7242 CMA

2777 7422 SNL

3222 7442 SZA

3221 7422 HLT /CLL RA; FAILED. 22 AND LINK
/SHOULD BE EERO

/GROUP 1 O?ERAYE TEST 44

3%62 732E CLA CLL CHL

3E63 1926 7A0 KGB4$ /AC3934@ LINK‘l

3064 7112 CLL RTR /TEST COMBINATION

KL ‘ I

H. 4V
.

‘

2632 2mm



igfiPwE/r INSTRUCTION TEST 1

(
3Qfl5

3096

3E9?

361%
3011

3012
3613

3614

3215
3916

3617
3625

3D21

3922
3923
3324
3625
3626

3327
3B59

3631

3332
3333

3334

3335

3336

3337

SEQQ

3541

3942

3943

3344

3645

3fi46

3647

335%

3651

3%52

3653

3254

g$43
7940

7420
7440

7492

7320
1026
7106

1947
7060

7422
7440

7462

7355

7319

7923
7943
7592

7369

7394

7523
7533
7582

7339

73£2

7929
7§43
$532

7359
7566

7529
73a5
74a2

7335

7036

1953
7949

7429

744%

7432

IGROUP

IGROUP

[GROUP

IGRQUP

ZGRDUP

lfiROUP

PALiD V141 awMAR-71
,

13:53 9A6: 1~37
; I

TAD K7767
' ‘

CHA

SNL
52A

_

HLT /CLL RTR FAILED. AC AND LINK
/SHOULD BE ZERO

1 OPERATE TEST 4S

CLA CLL CML
YAD K6046 IACBDD4D LINK=1

CLL RTL /TEST COMBINATION

TAD K7577

CHA

SNL
81A

HLY ICLL RTL FAILED. AC AND L!NK
ISHDULD BE ZERO

1 OPERATE TEST 46

CLA CLL CHL CMA IAC=7777 Llflxtl

CLL CLA RAR ITEST COH91NATIDN
SNL

Sit

HLY /CLL CLA RAR FAILED AC AND

ILINK SHOULD BE IERD

1 OPERATE TESY 47

DEA CHA CLL CML /AC:7777 LtNKal
GLE CLA RAL ITEST comaxwarlou

SRL

sag
”Lt ICLL CLA. RAL FAILED. AC AND

ILINK SHOULD BE iERO

1 DPERATE TEST 48

3L5 EMA CLL CML IAC=7777 LINKui

at: CLL RTE ITEST COMBINATION

SDL
$2£

HLT /CLA ELL RTL FAKLED. AC AND

/LINK SHOULD BE fiERD

1 SPERATE TEST 49

CLA CMA CLL CML 1AC27777 wale
CLA CLL RTL /TEST CGMBENAYION

3NL

SEA

DLr fCLA CL; RTL FAILED. AC éND

/LINK SHOULD EQUAL 2530

1 OPERA7E TEST 50

CLA CLL IAC=DDDD LI~K=9

CML RAR /TEST COMBINATiON

7A0 K3777

CMA

SNL

SEA

HLT /CML RAR FAILED. AC AND LINK

/SHOULD BE ZERO



3&3?§ucvlaw Tag? 1 gngf

3655

3956

3637

3860

3061
3362

3663

3964
3565
3666

3567

3079

3071

3072

3073

3974

3675

3976

3077

Slflfl
3161

3132
3163

3164

3135
3166

3197

3115
3111

5112
3113
3114

3115
3116

3117

3126

3121

3122

$39@

?@24

:aae
7%46

7329
$449

?462

7390

7$32
1552
724a

7926
7440

7452

7350

7926
1941
7640

7526
7946
7492

7393

i655

7339
1%53
7E46

732%
7449

7432

7360

1E55
7224

1z4a
7946

?42@

a44z

?422

7596

‘3‘
'3»

13" f

\vn,

1: 61"} his) (i
M

17

-w” 1}; 3a ‘3
id “J m 6} I

J 'Jr

iGfiGU° 1 C?€§A?E TEST 51

CLA CLL MACzafifig LZNK 3%

CML RAL /TEST CGMBINATEON

TAD K7776

CMA

SNL

32A

HLT ICML RAL FAILED. AC AND Liw
. ISHOULD BE EERO.

#GRDUP i OWERATE TEST 52
- CLA CLL IAszaaa LINK=G

CML RTR ITEST COMBINATION

TAD K5777

CHA

SNL
SEA

HLT ICML RTR FAILED. AC AND LINK
ISHOULD EQUAL EERO

IGROUP 1 OPERATE TEST 53

CLA CLL iACaaaaa anxsa
CHL RTL ITEST COMBINATION

TAO K7775

CHA

SNL
SEA

HLT ICHL RTL FAILED. AC AND LINK
ISHOULD EQUAL ZERO

iGROUP 1 OgERAYE TEST 54

CLA CLL

TAD K5252 lACfiSZSZ LINK=B

CLA CHL RAE iTEST COMBXNA7IDN

TAD K377?

EMA

SNL
S§A

HLT /CLA CML RAR FAILED. AC AND

PAUSE

iENSTRUCYIGN TEST ” 1

KGROUP 1 OPERATE TEST 55

ITA?E 3

CLA CLL _

?AD K5252 /AC=5252 LINKSQ

CLA CHL RAL /TEST COMBINATION

TAD K7776

CMA

SNL

SEA

HLT /CLA CML RAL FALEDs AC AND

{Llfifi gfiDUgD BE EERO

{SQUQP 1 OFERATE WEST 56

CLA CLL



igggwgff §M§?RUC?ION TEST 1

( 3133 1355
3124 7232

3125 19523
3186 7943

3127 7123
3133 7433

3131 7462

{GROUP

3132 7330
3133 1355
3134 7226
3135 1961
3186 70d0

3137 7323
3140 794a
3141 7462

xcnoup

3112 7333
3143 7130
3144 7904
3115 7936
3146 7949
3147 7492

IGROUP

3130 7380
3151 71:9
3152 7964
3133 7933
3154 74d3
3155 7432

76%UUP

3136 7393

3137 7124
3133 7913
3161 7633
3132 7443

3133 7422

IGROUP

3154 7323

3165 7124

3166 7013

3167 743a

3173 7443

3171 7432

xcfioup

3172 7330

3173 7132

OALig V191

?AO K5252
‘

OLA CHL 37R

TAD K5777

CMA

SNL

32A

HLT

1 OPERATE TEST

CLA CLL
TAD K5252

CLA CML RTL

TAD K7775

CMA

SNL
Si!

HLT

1 OPERATE 7:57

CLA CLL

CLL CML RAR

RAL

SEL
521

HLT

1 OPERATE TEST

CLA CLL CHL

CLL CML RAR

RAL

SlL
32A

HL7

1 OFERATE TEST

311 CLL

011 CNL RAL

aga

32L

32A

HL7

1 OPERATE $EST

CLA CLL CML

CLL CML RAL

RAE

SZL
SEA

HLT

l OFERATE TES?

CLA CLL

CLL CML RTR

aflnaan71
f

13:53 @133 1~39

711 152 LINKaa

ITEST COMEINATION

/CLA CML RTR FAILED, AC AND

ILINK SHOULD BE §ERO
57

IAC=5252 LINK=O

ITEST COMBINATION

/CLA CML RTL FAILED. AC AND

ILINK SHOULD EQUAL ZERO

58

lACfiOBBE LINKIO
ITEST COMBINATION

ICLL CML RAR FAILED. AC SHOULD
/BE 9090 LINK SHOULD BE 1

59

IACBEEBB LINK‘1
(TEST COMBINATION

/CLL CML RAR FAILED. Ac SHOULD BE

lfiflgg. LINK SHOULD 8E A ONE

66

71623963 LINxaa
fiTEST COMBINATION

/CLL CH; RAL FA
?iEQUAL 3399.

61

/AC$EE@9 LINK=1
lTEST COHBiNATIDN

ICLL CML RAL FAILED. fiC SHOULD

/EQUAL QQZB. LINK SHOULD BE ONE

62

/AC$Q@®Q LINK=E
[TEST COMBENATION



QANQCQ? 3%

31?4 $QQ$

3;?5 ?%33
3176 $459

3177 ?432

3239 $329

SQQI $132

3292 7356

3263 $430

3204 7548
3235 7422

3256 ?386

3207 7126

321a 7912
3211 7430
3212 7440
3213 7992

3214 7320

3215 7126

3216 7012
3217 $439

3226 7946
3221 7?52

3222 $559

3223 1&55
3224 7339
3225 75%4

3226 $436

3227 ?449

3239 $§92

3231 732%

3232 iflfié
3233 ?338

3234 7E94

3235 $430

3236 $446

3237 7492

324% ?339

3241 gfifié
32A2 ?$24

?§3? i CALAQ Aiéi
’

5“$1 ‘Q3 4%; AC

A?L

@QL

SEA

HL‘? XCL-L cML R'R AZ! Ego AC {IHUlz‘
A /BE 6335, LIN; SééfULU CE CNE

IGCOUP l OCERATE TEST 53

CLA CLL CHL IACAGQEQ LINK=1

CLL CML CTR {TEST CONSENATION

RTL
82L

32A

HLT /CLL CML RTR FAILED. AC gfiQULfi
/BE 3633 LINK SHCULD BE ONE.

IGROUP 1 CPERATE TEST 64
'

CLA CLL lACzfififlB'LINKzB
CLL CML RTL ITEST COMBINATION
RTR

82L

SEA

HLT ICLL CML RTL FAILED. AC SHOULD
‘

/BE 0950. LINK SHOULD BE A ONE
[GROUP 1 OPERATE TEST 65

OLA CLL CHL IACSBEHB LINK=1

CLL CML RTL ITEST COMBINATION

RTR

83L

SCA

HLT lCLL CML RTL FAILED. AC SHDULD
/BE 9339. LINK SHOULD BE A 0N5.

fGRQUP l QCERATE $§ST 66

CLA CLL '

CA3 K§2§2 {A635252 LINKzfi

CLA CLL CQL CAR iTEST COMBINATiON

RAL

32L
SEA

HLT XCLA CLL CHL RAR FAILED. A. Si” OULD
Jan QQEQ9 CENK SQCULO SE CHE

fiGRQUP 1 CQERATE TEST 67

CLA CLL CfiL ~

-

TAB K2529 gAC32525 LINK=1

CLA CLL CHL RAR /TEST COMBINATION

RAL

SZL
SEA

HLT ICLA CLL CML RAR FAILED. AC SHOULD
/BE @389, LINK SHOULD BE ONE

fCQGUP 1 O?ERA?E YEST 68

CLA CLL

TAD V252§ {ACAZQZS LEHKEQ

CLA C L CML 1A; i553? CQMEZNATZON

‘ (



(DDDwaz' INSINUDIIDN 7:5? 1

3233

3244
3245
3246

3247
3252

3251

3332
3253
3254

3255

3256
3297
329$
325%
$262
3263
3254

3295
3256
3267
3275
3271
3272

3273

3274
3275
3276
3277

33DD

33D1

33D2

3303
3324

ssas

sane

33D7

-331D
3311

3312
3313

?916
7439

7446

7492

7322

1@55
7524

7fl16
7436
7440

7902

7398

1@56
7332
799D
1&3:
7496
7952

7323
3555
IDse
7336
743D
7‘49
74D2

7ODD
$995
7326
7312
743D

7449

7402

732D
1955
7626

7012
743D

744D

74D2

7330

1054

PALiB V141 8*NAR'71
:

13353 PAGE 1*4i
(

RAR
I

>

( < I

SZL
SEA

HLT JCLA CLL CML RAL FAILED. AC 5HOULfi
x3: DDDD. LINK SHOULD DE ON:

/GROUP 1 OPERATE TEST 69

CLA cLL DNL

TAD K5252 xacaszsz LINK=1

CLA CLL CML RAL ITEST COHEINATION

DAD
52L
52A

HLT lCLA CLL ONL RAL FAILED. AC SHOULD
IBE DDDD LINK SHOULD BE A ON:

xcaoup 1 OPERATE TEST 7D

CLA CLL

TAD x2525
A IACI2525 LINK=D

Chi CLL CHL RTR ITEST CONDINATION
NIL

93L
§2£
NL? ICLA CLL DNL RTR FAILED. AC SHOULD

IBE DDDD. LINK SHOULD BE A ONE

IGROUP 1 DDEDAI: TEST 71

CL! CLL DNL

7A9 K5252 /Ac~5252 LINK=1

OLA CLL ONL RTR ITEST COMBINATION

RTE
53%
sag
HLT fCLA CLL ONL RTR FAILED. AC SHOULD

/DE DDDO. LINK 3NDULD BE A ONE

{GROUP 1 DDEDAIE TEST 72

OLD CLA

?AB K2525 /AC=2525 LINNxD

OLA DLL CNL RTL {TEST COMBINATION

DID

32L

SEA

HLT fCLA CLL CML RTL DAILED. AC DNOULD
xss DODD. LINK SHOULD BE A £ERO

iSRfiUP i DDEDAIE TES” ?3

OLL CLA CML

IND K5252 /AC=5252 LINK=1

CLA CLL CML DIL iTEST COMBINAIION

RTR

SZL

SZA

HLT ICLA DLL DML RTL FAILED. AC SHOULD

/BE fiflfifi. LINK SHOULD BE A ONE

/GROUP 1 OPERATE TEST 74

CLA CLL

TAD K7777 /TEST PATTERN



3323

3321

3322
3323

3324
3325

3326
3327
3336

3331

3332

3333

3334

3335

3336
3337

334a

3341

3342

3343

3364

3345

3346

3347

3359

3351

3332

3383

3354

3355
3356

3357
3366

3361

3362

3363

3364

3365

3366

3367

33?5

3371

7392

1966
7741
1942
794a
7620
794a
7492

7§aa
1965

7341
$943
7a4a

7426
7&49

7932

7326

1764
?$41

1744
?943

7427
?44@

7492

?3flfl
i963
7941

1945
7249

7426

?442

7492

fih>f’%€3$m
33. N: NE mi 63‘.

_7GR&UP 1 OPERATE TEST 7s

CLA CLL

?AD K7776

CIA

7A0 K7775

CNA

SNL
SZA

HL?

IGROUP 1 OPERATE TEST 76

GLA CLL

TAD K7774

CIA

TAD K7773

CMA

SNL

SEA

HLT
IGRQUP 1 OPERATE TEST 77

CLA CLL

TAD K7776

CIA
TAD K7767

CMA

SNL
323

HLT

icficup 1 OPERATE TEST 78

CLA ELL

TAD K7766

CIA

7A8 x77”7

UNA
SNL
SEA

HLT

iGFOUP 1 OEERATE TEST 79

CLA CLL

TAD K7745

CIA

TAD K7?37

CMA

SNL

SEA

p.51“ T

fCIA FQILEfi A8 3H§UL9 EQUfiL

{LINK 3HOULD EQUAL A EEgfi

ITEST PATTERN

{AC EQUALS EGGZ

saga

fCIA FAILED AC SHOULD EQUAL fifififi

ILINK SHOULD EQUAL A EERO

ITEST PATTERN

/AC EOUALS @024

ICIA FAILED AC SHOULD EQUAL

/LINK SHOULD EQUAL ZERO

[TEST PATTERN

lAC EQUALS 9916

lCIA FAILED AC SHOULD EQUAL

fTEST PATTERN
{AC EQUALS 3926

{CIA FAILED AC SHOULD EQUAL

fLINK SHOULD EQUAL ZERO

{TEST PATTERN

/AC EQUALS 564$

/Q1§ ?A1LED AC SHOULD E3

ILENK SHOULU EQUAL EERO

(_

5995

5369

@336

DAL 7»
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13853

3372
3373

3374

3375

3376

3377

54fl0

3461

3492
3463

3404

3405
34Gb
84!?

341!
3411

3412
3413

3414
3415
8416
3417
3420

34a1

3422

3423

3424

3425
3426
3427
3439

3431

3432

3433

3434

343

3436

3437

3440

3441

?390

1191
7941

1046
724a

7526
7440

7522

73a0

1962
79a1

$947
7943

79:!
7‘49

7492

7300

39:1
7941
10!!
79‘8
74;.

7540
7992

7390

1966
7241

1991
7940

792a
7449

7422

7390

1357
7941

;252
7943

7420
7443
7402

(

/GROUP 1 OPERATE TEST 8%

OLA CLL

TAD K77OO /TEST PATTERN

CIA IAC EQUALS Blfifl

TAO K7677

OMA

SNL
SEA

9A5! 1'43

HLT ICIA FAILED A SHOULD EQUAL @696

ILINK SHOULD EQUAL ZERO

[GROUP 1 OPERATE TEST 81

CLA CLL

TAO K7666 ITEST PATTERN

OIA IAC EQUALS 0206

TAD K7577

OMA

SNL
BIA

HLT ICIA FAILED AC SHOULD EQUAL zaaa

ILINK SHOULD EQUAL IERO

IGROUP 1 OPERATE TEST 82

OLA CLL

TAO K7499 ITEST PATTERN

CIA IAC EOUALS O4OO

TAO K7377

OMA

SNL
Oil

HLT ICIA FAILED AC SHOULD EQUAL OBOE

ILINK SHOULD EQUAL ZERO

IGROUP 1 OPERATE TEST 83

OLA CLL

TAO K7359 ITEST FATTERN

CIA IAC EQUALS 1999

TAD K6777

CMA

SNL

gfih

HLT /CIA FAILEO AC SHOULD EQUAL @939

iLINK SHOULU EQU§L EERO

IGQOUP 1 OPERATE TEST 84

CLA CLL

TAO Kéfififi ITEST PATTERN

CIA /AC EOUALS 2326

TAD K5777

CMA

SNL

SEA

HLT ICIA FAILED AC SHOULD EQUAL @350

/LINK SHOULD EQUAL ZERO

IGROUP 1 OPERATE TEST 85

"N.



3466

3461
3462

3463
3464

3465
3466
3467

3479

3471
3472

3473
34?4

3475

34?6

3477

3599

3591

3582

3583

3564

3585

35%6

3537

3519
3511

3E1?

?399

$E41
7452
7426.

7592

7349

7311

7930
7440

?532

7369

7355
7539
7952
7531
$922
7643
7432

7329
?513

7939
?932
753%

7432

736%

?507
7433

?4®2

?%41

ig23
7446

?4Q2

KGRDUP

lfiROUP

(GROUP

iGROUP

fSRQUP

figgig

@553, {ELL

3%? géggg

EZA

?AD K3777

CMA

SNL
SEA

HL?

§i§i

ICIA FALED AC SHaULD Emuua fiwg

leNK Swougo EQUALL aaao

i DQERATE TEST 86

CLA CLL

?AD KEQQG

CIA

SNA

SNL
HLT

iTEST PATTERN

{AC EQUALS 639%: LINK EQUALS A SHE

ICIA FAILED AC SHOULD EQUAL 5536

ILINK SHOULD EQUAL A ONE

OPERATE TEST 37

CLA CHA CLL (A037777.L80
CLA CLL IAC RAR lACaflnLal

SiL

32A

HLT IERRDR; LINC NOT SET on

{AC NOT 6

1 OPERATE TEST 88

CLA CMA CLL CML /AC=7777.L=1
CLA CLL 1A5 RAL IAC32:L33

32L

HLT

CHA IAC

3&0 K3392

SEA

HLT

l OPERATE

CLA CLL CHL

CLA CLL

§ZL

HLT
EMA

HL?

/ERROR§ LING NOT 9

/ERROR AC NOT=2

TEST

39/
3;?

n

L

f"
U

9 ’31
3 w;

an
VJ!)E3“-Mt‘fi I

E
q-x s. an

3

EUR? LENL NOT 6W? .Jf

{ERROR} AC NOT 4&56

i OQERATE TEST 9%

CLA CMA

CLA CLL

52L

HLT

EMA

TED

§EA
r.

Hp:

IAC

nfififlé

ELL CML

ZAC RTL

/AC=7?77pL31

/AC349LINC3$

{ERRCRS LINE W9? 9



v
‘ 5‘

~. 51, 52': -7

I INS?%UCTIDN TEST 1

(SRQUP
7300

$531

7522

?492

3513
3514
3515
3516

IGROUP

3517
3523

3521
3522

3523
3524
3525

8516

73mg
7345

7439
7962
7041
1921
79‘s
r492

IGROUP

7360

7373

799:
7932
74:9
7452

3527

3536

3531
3532

3583

3534

[GROUP

3535
3536
8537
3546

3541

7332
7996
7932
7449

7§32

IGRUUP

3562

35‘}

3544
3545

3546

3547

7390
7342

$$49
7926
7‘46

7462

{GRDUP

7566
7393

1646
7248

7423

7940
7492

3559

$551

3552

3553

3554

3555

3556

IGROUP

7563

7343

743%

3557

356%

3561

PALlfi V141 Q'HAR-71 13853 PAGE 1w45
{( x

1 OPERATE TESW 91

CLA CLL lACafla L3H
CLA CLL CML IAC RAH IAC340999 L'l

SHA SNL

HLT /ERROR3 AC NOT 4596 DR

ILINC NOT 1

1 OPERATE TEST 92

CLA CLL IACSU'LEE

CLA CMA CLL IAC RAL /AC3@051:L'0

35L
HLT /LINC NOTIB

UNA IAC

TAD K9991

SiA

HLT /AC NUT 9591

1 OPERATE TEST 93

CLA CHA CLL CHL IAC37777aL'1
CLA CHA CLL CHL I‘C RTR IAC'BoLSE

52‘

HLT IERIORS

53L
HL7 (ERROR!

1 OPERATE TEST 94

OLA CLL CHL RTR ILGB ACSZEBO

RTL /L'1 ACIBBBB

81L
SEA

HLT ICLA CLL CHL RTR OR RTL FAILED

1 GPEQATE TEST 95

CLA CHA CLL CNL

CLA CLL CMA SSH/AC37777 LINKaQ
CMA

SNL

SEA

HLT /7742 FAILED

1 OPERATE VEST 96

CLA CHA CLL CML

OLA CLL IAC BSH lACafllfifi LXNKEE
?AD K1677 lACa7777

CHA lACafifiZfl

SNL

SEA

HLT x7723 FAILED

1 DFERATE TEST 97

CLA CHA CLL CML

CLA CLL CHA IAC BSH

SZL

IACQQGZZ LINK=1



5’?
..,?§ 7%5‘5 ZEEERugTEEN TEE? 1 E111E ‘5 EEEEE —:3:: :

EEEE EEEE EEE

3513 EEEE HLT EEEEE EEiLEE

5GE§LE 1 DEERATE YES? E8

$§g4 2356 CLA CH1 CLL CML

sags E363 CLA CLL EMA GML LAC BEN EACMEEEE LEEEME

3566 ?§2@ SNL

3557 7446 32A

3576 7%E2 HLT £7763 FAILED

{GRDUP 1 OPERATE TEST E9

3571 7309 CLA CLL

3572 1fl33 TAD K1234
3573 7963 CHA CHL IAC ESH /Acu4465 L81

3574 1335 TAD K3312
3575 7940 CHA

3576 7432 52L
3577 7440 52A

3669 7962 HLT x7663 FAszo

IGROUP 1 OPERATE TEST 188

soul 7332 CLA CLL CHL RTR 1Ac=2065 L=1

3692 7963 CHA CHL IAC asw lACsafléa L=1

sous 1337 TAD K7?17 /AC:7777 L-1

3694 7a43 CHA

3665 7536 32L

3626 $345 SEA

3667 7962 HLT I7663 FAILED

tsaeup 2 OEERATE TEST 1

3619 7249 CLA EMA [ACM7777

3611 E769 CLA EMA xTEST CQMBINATION 5

3612 7992 HLT /CLA SMA DID NOT SKIP

/AC SHOULD BE 6668

3613 E446 SEA

3614 7132 HLT ECLA EMA 020 NOT CLEAR AC

XEC SHOULD BE 3355

56300? 2 GEERATE 753? 2

3615 E246 CLA CMA ié037777

3616 765E CLA SEA iTEST CGMBiNATEON

3517 Efiéfi SEA

3626 7592 HLT /CLA SEA SHIPPED 0R AC NOT

/CLEARED TO 9999

. :GEGUP 2 DEEREEE TEST 3

3621 E249 CLA EMA xgc=7777

3622 E543 8M1 521 /TEST CUMBENATEEN
Lézs 7462 HLT iSML SEA SHOULD HAVE SKEPPED

550 SHOULD EQEEL 7777

EGEQQP 2 QEEEAEE YES? E

525 EZEZ CLA ’Abw”EE

3525 EEEQ EMA SEE

ETE:
COLEBINEFESN

3&35 EEEZ MLT 555E ESE; SRE‘LU HM‘E SMEMEED
5E3 ELEJLB Kg?UEL ESE;

(
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( iOOOUP 2 OPERATE TE{ 5 (
3527 7299 CLA
3635 1053 TAD K3777 /Ac-3777
3531 7542 sag SEA xrzsr COMB!NATION
3632 7459 SNA

3633 74a2 HLT xsna SZA SHOULD NOT HAVE sxppco

/AC SHOULD EQUAL 3777

fGROUP 2 OPERATE TEST 6

3634 7248 CLA CMA /AC¢7777

3635 7740 OLA SNA 52A ITEST COMBINATION
3636 7402 HLT IGLA SHA SOA SHOULD HAVE SKIPBED

_

IAC SHOULD BE 6660

3687 7946 SEA

3649 7952 HLT IAC HAS NOT CLEARED
IAC SHOULD BE OBOE

[GROUP 2 OPERATE TIST 7

3641 729a OLA IACsOOOO
5642 77:0 OLA SMA 82A ITEST COMBINATION
3643 7902 HLT ICLA SMA SEA SHOULD HAVE SKTPPEO

IAC SHOULD BE 0695
3644 79‘s 82A
3645 7402 HLT IAC HAS NOT CLEAREO

IAC SHOULD BE 9630

IGROUP 2 OPERATE TEST 8

3646 7299 OLA
3647 1253 TAO K3777 /ACaa777

369a 7742 OLA SHA S£A ITEST COMBINATION

3651 7449 82A

3652 7452 HLT ISNA szn DID NOT SKIP OR AC

INOT CLEARED TO BOOB

IGROUP 2 OFERATE TEST 9

3653 7363 CLL CLA ILINKSG
3694 gass TAD K5252 /AC=5252

3655 7§20 CLA SNL ITEST COMBINATION

3696 74fi6 32A

3657 7902 HLT ISNL SKIPPEO OR AC NOT CLEAREO
IAC AND LINK SHOULD EQUAL ZERO

lGROUP 2 OPERATE TEST 19

$666 7320 CLA CLL CHL

3661 $256 TAD K2525 IACBZSZS LINK=1

3662 7626 CLA SNL ITEST COMBINATION

3693 7462 NLT /SNL DID NOT SKIP

ILINK SHOULD EQUAL ONE

3664 744C 32A

3665 7492 HLT /CLA SNL DID NOT CLEAR AC

/AC SHOULD EQUAL OOOO

/GROUP 2 OPERATE TEST 11

3666 73OO CLA CLL /AC=OOOO LINxag

3667 7529 SMA SNL /TEST COMBINATION



13m!" 22.: w «6 .3167 4"-M (a wt. 9.... 325?. é

“A“: 639’} 64 m9. 463‘ ‘36

«26*» W6 w‘b 4

1x3 '63
J,

W

CCCC CCCC
6

”C6

CGCI CCCZ C6? ECCC CCC 3%3“"EC6 CC C Ci
"”CULC 6CC6 :CCC

CCCCCC 2 0C6?6TE 'fCSC C2

--35?2 C325 8L6 CIL CCL {CC6CCCC LECCCI
3673 C529 SCA SNL fTECT CCMBENCCICN
3674 7492 CL? {SNC SHOULD HAVE CKICCECQ CECC 6

(GROUP 2 QCCRATE YES? 13

-3675 C399 CLA CLL

3676 1935 CAD KCCCC CACCCCCC LiCKmC

3677 C529 SMA SNL iTECT CCCCZNATiCN
375% 7452 HLT fSHA SHOULD CAVE SKECPEQ

IAC64CCC

xcaoup 2 OPERATE TEST 14

3721 7320 CLA CLL CML

3762 1956
‘

TAD K4936 IACaéfifig LINKal

37fl3 7520 SHA SNL /TEST COMBINATION

3754 74fl2 HLT /SMA SNL SHOULD HAVE SKIPPED
/ACB4CCC LINK'l

IGROUP 2 OFERATE TEST 15 _

3765 ?306 OLA CLL IACsCBCE LINKSB

3796 7729 CLA SMA SNL ITEST COMBINATION

3797 754C 52A

37:0 7962 HLT {SHA SNL SKIPPED. AC AND LINK
ISHOULD BE ZERO

{GROUP 2 OPERATE TEST 16

3711 ?§26 CLA CLL CML IACQEBEE LINKa1
3712 7729 CLA SMA SNL {TEST COMBINATION

3713 7462 HLT ISNL SHOULD HAVE SKIPPED

lLINKal

3714 C442 SEA

3715 C492 HLT ICLA SCA SNL DID NOT CCECC AC

/AC SHOULD EQUAL CERO

EGROUP 2 OCERATE TEST 17

3?16 7366 CLA CLL

3717 $836 CAD K4996 IACCCCCC LINKCC

3736 7723 CLA 3M6 SNL ITEST COMBINATION

3721 C462 HLT (SCA SHOULC CAVE SKZFP EC

IAC SHOULD EQUAL CCCC LINKSC

3722 *CCC SEA
. 3723 C492 HLT JCLA SMA SNL DID NOT CLEAR AC

/AC SHOUCD ECUAL CCCC

CCRCUP 2 CCERATE TEST 18

3724 752% CLA CLL CHL

3725 1936 668 K4CBC [6666362 LINK61

3726 C723 CLA SCA SN; iTEST COMBENATZON

3727 C4C2 HLT XCLA 3M6 SCC SHOULD HAVE SKIPPED

iafi CCCCCC CE CCCC LECC61

3?3C C440 826

3?31 C4C2 CL? {CIA CCA SCC CID NOT CLEAR AC

KCC 6CC60 CE C#5 LECC61

5CCCCP 2 CCECACE CCCY 19

3732 CCCC CCA CLL 6666 CCCC CENKMC

‘ (
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I 3733 7433 333 SNL (
3734 7432 HLT

733332 2 33 3373 7337

3735 7323 CLL CLA CML

3733 7433 523 SNL

3737 7432 HLT

’

733037 2 3753373 7:57

3743 7333 OLA CLL

3731 1331 733 K3433

3732 7433 SEA SNL

3743 7453 SNA

3744 7432 HLT

133037 2 335337: 7:57

3745 7323 CLA CLL CML
3733 1323 733 33343

3737 7433 323 SNL

3753 7432 HLT

133033 2 033337: 7:57

3751 7333 CLA CLL

3732 7633 CLA 523 SNL

3733 7432 HLT

3754 7443 323

3755 7932 HLT

/caeuP 2 OPERATE 7:57

3756 7323 CLA CLL CML
3757 7533 CLA szA SNL

3733 7432 HL7

3731 7433 333

3732 7332 HLT

733333 2 3333373 7357

3733 7323 333 CLL CML

3734 1333 733 33233

3735 7633 333 323 333

3733 7432 33?

3737 7443 333

3773 7432 3LT

733337 2 3333373 7357

3771 7333 CLA CLL

3772 1334 733 32333

3773 7660 CLA SZA SNL

3774 7443 52A

3775 7492 HLT

B-MAR-71
V

1335! PAGE 1949

ITEST COHU {ION

ISBA SNL DID NOT SKIP
IAC=ODOB

26

IAC=BDDB LINK=1
/TEST COMBINATION
IS£A SNL DID NOT SKIP

IAC=BODD LINK=1

21

IAO=O4DO LINKag

ITEST COMBINATION

ISEA SNL SKIPPED
IAC=O4DO LINK=D

22

IACBOD4O LINK=1
/TEST COMBINATION

lSEA SNL SHOULD HAVE SKIPPED
ILINK=1

23

IACBODDO LINK'D
ITEST COMBINATION
ICLA 52A SNL SHOULD HAVE SKIPPED
IAC AND LINK SHOULD EQUAL iERO

ICLA 52A SNL DID NOT CLEAR AC

/AC SHOULD BE GOOD

24

iACsflDDD LINK‘l
/TEST COMBINATION
/CLA SZA SNL SHOULD HAVE SKIPPED
IAC=EDDO LINK=1

/CLA SEA SNL DID NOT CLEAR AC

fAC SHOULD EQUAL DDDD

25

iAC'r-‘QIQQD LINK=1

XIEST COMBINATION DR

/CLA SEA SN; SHOUgfl HAVE SKIPQED

lLINK=1

iCLA SEA SNL DID ND? CLEéR AC

IAC SHOULD EQUAL DDDD

26

/AC=ZDDD LINK=D

ITEST COMBINATION

/CLA SZA SNL FAILED. AC AND

ILINK SHOULD EQUAL ZERO
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3776

3777

4369

4051
4992

4903

40fl4

40fl5
40E6

4607

4910

4611
4912

4013
4O14

4615

4616
4617
4E20

4921
4922

Ages
AO24

OO25

4026

4627
4630

4931

4Z32

4033

4634

$335

OEOO

73OO

7569

7AO2

7322
;953
756a

7492

7306

$836
7569

7402

TOOO

1053
7566
7456

7992

7566

7766

7462

7449
74%2

7320

1933
Olen

7462

7440

7902

7330

1836
7769

7492

744%

OAOz

IGROUP

lGRDUP

IGROUP

[GROUP

IGRDUP

iGROUP

iGRDUP

IGQGUP

POLiQ Nlél “AOOR 7i 13:33

2 OPERATE TEST 27

OLA CLL IACOOOOB LINKOO
SHA SEA SNL /TEST COMBINATION
HLT /$MA SZA SNL SHOULD HAVE SA' EO

/AC=OOOO LINK=O
2 OPERATE TEST 28

CLA CLL CML

TAO K3777 /AO=3777 LINK=1

SNA 32A SNL /TEST COMBINATION

HLT ISHA SZA SNL SHOULD HAVE SKIPOEO
/AC=3777 LINK=1

2 OPERATE TEST 29

OLA CLL .

TAD K4663 /AO= 4930 LINKaO

SMA SEA SNL ITEST COMBINATION

HLT ISHA 82A SNL SHOULD HAVE SKIPPED
IAC=4OBO LINKOO

2 OPERATE TEST 3O

OLA CLL

TAD K3777 IACn3777 LINK=B

SMA 32A sNL ITEST COMBINATION

SNA

HLT ISMA 52A SNL SHOULD NOT HAVE

ISKIPPED. Ac=3777 LINKaO

2 OPERATE TEST 31

OLA CLL IAC=OOBO LINK=O

OLA SNA 32A SNL ITEST COMBINATION

HLT ICLA SHA SEA SNL SHOULD HAVE SKIPPEO
IAC SHOULD EQUAL OOOO

SEA

HLT OAC NOT ZERO AFTER CLA SNA SEA SNL
/AC SHOULD BE BOOB LINK=O

2 OPERATE TEST 32

OLA CLL CML

TAO K3777 /AC=3777 LINK=1

CLA SNA OOA ONL OTEST COMBINATION

HLT
zOLAS

SMA SEA SNL DID NOT SKIP
iAC HOOLO OE OO OO LIN

SZA

HLT /CLA SMA SZA SNL DID NOT CLEAR AC

/AC SHOULD EQUAL OOOO LINKsi

2 OPERATE TEST 33

CLA CLL

TAO KAOOO /AC=4000 LINK:O

OLA SHA 32A SNL xTEST COMBINATION

HLT /CLA SMA SOA SNL SHOULD HAVE SKIPPEO
/AC SHOULD BE OOOO. LINK=O

SEA

HLT /CLA SNA OEA SNL BIO NOT CLEAR AC

”ifs-C .JHIHJ a) LEUAL iéu’?

2 0$ERAYE TEST 34

‘ (
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13:53 PAGE 1-51

( 4337 7366 Elk CLL ( {
4343 1953 YEO K3777 1A683777 LINKaO

43:1 77am CLA SHA 32A SNL x7531 COMBINATION

4542 7443 as:

4643 79O2 HLT ICLA SMA saA SNL FAILEO. AC

_

ISHOULD BE ZERO. LlNK=O

IGROUP 2 OPERATE TEST 35

4344 7329 CLA CLL IAC=OOBO LINK-O
4O45 7910 SKP ITEST INSTRUCTION
4346 7392 HLT /SKIP FAILED

IAC AND LINK EQUAL ZERO

IGROUP 2 OPERATE TEST 36

4O47 7320 CLA CLL CHL /AC=OOHO LINK=1
4953 791a SKP ITEST INSTRUCTION
4O51 79O2

_

HLT ISKIP FAILED
IACSOOOO LINK‘l

IGROUP 2 OPERATE TEST 37

4552 7323 OLE CLL CML

‘993 1353 TAO K3777 [A683777 LINK81
c094 7910 sup zrzsr INSTRUCTION
‘555 7592 HLT ISKIP FAtho

/ACI3777 LINK-1
IOROUP 2 OPERATE TEST 38

4556 7358 CLA CLL

4657 1353 7:0 K3777 1A6a3777 LINKao

4660 7510 SKP ITEST INSTRUCTION

4961 7432
‘

HLT ISKIP FAILED
/ACI3777 LINK'O

[GROUP 2 OPERATE TEST 39

QOQZ 7266 OLA
4353 1953 TAO K3777 IAC§3777

4064 7719 OLA SPA [TEST COMBINATION
4265 7492 HLT lCLA SPA DID NOT SKIP. AC

/SHOULD BE ZERO

4066 7540 SEA

4067 7992 HLT /CLA SPA DID NOT CLEAR AC

{AC SHOULD EQUAL EERO

IGQOUP 2 OOERATE TEST 4%

4273 7200 CLA

4371 1236 TAD K4000 -

/Ac:4ggg

4672 771$ CLA SPA /TEST COMBINATION

4673 7446 SEA

4074 7402 HLT /CLA SPA FAILED. AC SHOULO

IEGUAL OOOO

iGROUP 2 OPERATE TEST 41

4675 7249 CLA CHA /AC=7777

4076 7650 CLA SNA {TEST COMBINATION

4077 7492 HLT /CLA SNA DID NOT SKEP

/AC SHOULD BE @OOO

/GROUP 2 OPERATE TEST 42

410% 7200 CLA IAC=OBOO

4101 765% CLA SNA /TEST COMBINATION

4102 7440 SEA



f?fi?~5/E ENSTRUCTIGN ng? 1 pagga ¥é§1 aafiéfim71 ifiififi géfifi iv?%

4:93 ?§92 HLT . iCLA awa €é§i

xac SHOULD_EQ 1; @933

fGRQUP 2 QPERATE TEST 43

4154 7296 CLA xAC=gaaa

4195 755% SPA SNA lTEST COMBINA?”Q& (AND)

4196 744a SEA

4157 75% HLT ISPA SNA SKIPPED
‘ xAcsaaga

XGROUP 2 OPERATE TEST 44

4116 7260 CLA

4111 1653 TAD K3777 /AE=3777

4112 755a SPA SNA ITEST COMBINATIQN (AND)

4113 7402 HLT ISPA SNA FAILED ?o SKIP
'

IACa3777

(GROUP 2 OPERATE TEST 45

4114 7293 CLA

4115 1836 TAD K4920 /AC=4208

4116 7559 SPA SNA ITEST CCMBINATIQN (AND)

4117 7450 SNA
,

4122 7§02 HLT ISPA SNA SKIPPEU.

IACa4EEO

IGROUP 2 OPERATE TEST 46

4121 7260 CLA IACaZBEB

4122 7750 CLA SPA SNA ITEST COMBINATION (AND)

4123 7940 SEA

4124 7992 HLT ICLA SPA SNA FAILED.

/AC SHOULD BE 5666

KGROUP 2 DEERATE YEST 47

4125 7296 -

ELA

4126 1553 TAD x3777 1AC=3777

4127 ?759 CLA SPA SfiA iTES? COMBINATION (AND)

4139 7492 ML? fCLA SPA SNA DiD m0? SKI?

/AC SHOULD BE 3939

4131 7fiéfl 32A

4132 76mg HLT ZCLA SPA SNA 010 M0? CLEAR ?%E éfi

iAC SRDULD EQUAL Qflflfl

lGROUP 2 OFERA7E TEST 48.

4133 725% CLA
4134 1236 ?AD K4EQB fACfi4fiflfi

4135 7756 CLA SPA swa [TEST CDMBENATION cams)

4136 ?44@ SEA

4137 7492 HLT ICLA sPA SNA FAILED

IAC SHOULD EQUAL EERO

PAUSE

{KNSTRUCTION TEST m TfiPE 4

/GROU? 2 §?ERATE TEST 49

4169 7398 CLA CLL

414i 1&55 TAD g52§2 ;A§:5252 Limfiuz

$162 7639 CLA SZL /TEST CSMBINATEON

K, 4 ( Q
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‘

4183 7462 HLT
(

ICLA OEL L., OOT 5K1?
(

IAC AND LINK SHOULD BE O

4144 744% 52A

4145 7662 HLT ICLA SZL DID NOT CLEAR AC
!AC SHOULD BE EERO. LINKaO

IGROUP 2 OPERATE T55? 53

4146 7360 CLL CLL CHL CMA IAC87777 LINK31
41d7 7939 CLA 52L [TEST COMBINATION (AND)
4150 7445 SEA

4151 3452 HLT ICLA SZL FAILED. AC SHOULD
/BE 9093. LINK'i

iGROUP 2 OPERATE TEST 51

4152 7580 CLA CLL

4133 1953 TAD K3777 IAOaa777 LINKaO
4154 7532 SPA SZL ITEST COMBINATION (AND)

4155 7462 HLT ISPA SZL DID NOT SKIP
[ACIS777 LINK'O

IGEOUP 2 OPERATE TEST 52

4156 7328 OLA CLL CML

4157 1953 TAD K3777 IACB3777 LINK-1

#155 7536 SPA 52L /TEST COMBINATION (AND)

4161 799a SNA

‘162 7582 HLT ISPA 92L sxxppco
IAC83777 LINK'l

IBEOUP 2 OPERATE TEST 53

4163 7350 OLA ELL

4154 1&36 TAO K4693 /Acaaaoa LINKafl
4145 7533 SPA 32L (TEST COMBINATION (AND)

4166 $599 SMA

4197 7592 HLT ISPA SZL SKIPPEO
{ACOOQBB LINKag

iGRQUP Z‘OPERATE TEST 54

4179 7359 OLA CLL

‘171 1353 TAD R3??? lAca3777 LINKOG

4172 7736 OLA SPA 32L iTEST COMBENATEON (AND)

4173 ?932 ML? /CLA SPA 32L SHOULD MOVE Oxiwfiaa
IAC SHOULD SE @393. LINKOQ

4174 7449 SEA

4175 7402 ML?
'

iCLA SPA SEL 010 NOT CLEAR THE AC
~

/AC SHOULD as @292

{OOOOP 2 GFERATE TEST 55

4176 7320 CLA CLL CML

4177 1253 TAO K3777 /AC:3777 LINKai

429a 773$ CLA SPA 52L /?EST CCMBINATION (AND)

4291 7440 32A

4202 7452 HL? fCLA SPA SEL FAILED
XAC SHOULD EQUAL 9366 LEMKfii

[GROUP 2 OPERATE $53? 56

4203 73OO CLA CLL

4294 1O36 TAD K4EBQ /AC=4@B@ szxze
4265 7/30 CLA SPA 32L /TEST COMEINATION (AND)

4226 744z
,

SZA



ffiflfiwfifE EHSLRUE?

VA 05-. sang
«'1'

I"? if {a l

4219
7211

4212

7213

4214
4215

4216
A217
4229

4221
4222

4223

7224

4225
4226
4227

4235

“wmazsz

4232

7273
7277

4235

4286

4237

7277

4271

7272

7273

7277

7245

7277

7277

A33

3.3!

«‘7‘

7S3

35

PV

Pk?

3w77mm ”0%

LAN LES? i AAELS 77%

7777 777

7e73u7 2 077777E 7737

7376 6L7 CLL

7736 773 77777

747% SN7 57L

7772 AL?

AGAQUP 2 09ERA?E TEST

7529 CLA CLL CAL

$236 TAD 77777

7779 SNA SEL
742% SNL
7472 HLT

ASAfiUP 2 07ERATE 7787

7363 CLA CLL

7479 SNA SEL

743% SEL
7462 HLT

IGRDUP 2 OPERATE TEST

7326 CLA CLL CHL

gase TAD K4006

7979 cLA SNA 32L

7747 52A

7792 HLT

{GROUP 2 07ERATE 7E3?

7335 CLA CLL

$636 773 K7737

7677 GL7 577 SEL
77 52 AL?

.7779 52A

7992 AL?

£77777 2 0737772 7:37

7579 CLA CLL

7677 CLA SEA 5%;

7777 357

7462 HL7

7773u7 2 0757775 7:77

7577 CLA CLL

7753 777 7377?

7577 $77 $NA 77L

7772 HLT

E“P‘“J 2 OPERAtfi :77;

7777 CLA ELL 77L

7753 777 77:;7

7777 377 577 33'

égMAQWEA

7777 33A 77: EA7l§fi:’ .47 #1 Wm“. r
v»5g§vaw

7‘AC SLiUULL LQLAL ALLA Lgfifixfi
S?

i73=7§flfi LENKnfi

77EST CGMBENATXON (779)

ASNA SEL 020 N07 5717

776 = 4775 LIN779
78

/A¢34QQQ LINKal

ITEST COMBANATEON (AND)

/SNA 32L SKIPPED
KAC 4779 LIN §<81

59

/AC=@936 LINK76
IVEST COMBINATION (AND)

ISNA SZL SKEPPED
fACsflDDE LINKSA

63

IACR4UUE LINKmi

ITEST CDMBINATIOA (AND)

iCLA SNA
IRE fifififi.

35L FAILEDe

LINKRA

AC SHOULD

51

77777777 szxaw
17737 CSAQZNATIGN (AND)

/CLA 377 77L DID 707 8717
77c SHOULD BE 7777. LINKsfi

{6L7 $77 37L 7:0 777 CLEAR 7:

IAC AND LINK SHOUL? 8E ELRG
‘3

a.

/AC$Q§QQ

L>LEN
MK“ 9
A"?

m

[WESI bu. EMA W0 {AME}

fCLA SNA 32L FAILED. AC 394 QULD
{BE @6333 LENKQQ

63

‘AL" 3777 LXNKafi

flyin CVHELMATIDN {AND}

f3”! QHA 32L BED MG? SKI?
/AC “777 LiMKfi

54

EASL5?77 LE”V“A

ETEST D73 zr¥70r (AHQ>

(



é?%Pw§/E :Nsvaucvxow TEST 1

f
I

\. 4233

4254

4255

4256

4257

@253

4261
42$2

4293

4294
4255

*256

I257
427%

i271

4272

4273

A274
4275
4276

4277

4359

43a1

4392

ases

4394

4355

4326

4367

4310
4311

4312
4313

4314

4315

4316

4317

7429

7492

7392

$579

?43e

7552

7365

1936
7579

7439

7952

73!!

1953
777i

7§l2

7§ifl
VSIZ

733!
1853
7770

7446
7&92

V358
1836
777a

744a
7492

?333

7770

7446

7462

7239

1355
7624

7840

?44B

7402

IGRUUP

[GROUP

(GROUP

EGQQUP

£SRQU?

FALSE v1a1

SNL (

T
‘9

CLA CLL

SPA SNA ggL

32L

HL7

2 OPERATE TEST 66

CLA CLL

TAD K4666

SPA SNA SZL

SEL
HLT

2 owaaATE TEST 67

CLA CLL
TAB x3777

tLA SPA SNA 32L

HLT

SEA

HLY

2 OfiERATE 7587 68

CLfi CLL CHL

TAD K3777

CLA SPA SNA 32L

Sifi

HL7

2 SPERATE TEST 69

QLA CLL

TAD Kéfiflfi

sga SPA SMA SEL

2 S?ERA?E TEST ?3
PI!
Uh»

SPA SNA SZL

2 OPERATE TEST 71

CLA

TAD K5252

CLA 08R

EMA

SEA

HLT

D?

8»MAR-71
‘

13:53

(

fSPA SNA 53L SKIPPED

IAC=3777 LINK=1

/A03fifififl LINKQB'
fTEST CQMBINATION (AND)

ISPA SNA 52L SKiPPED
lACfiQQfiE LINKBQ

/A534@30 LINKag

lYEST COMBINATION (AND)

lSPA SNA 83L SKIPPED

lACadfiflfl LINK‘B

[A683777 LINKIQ
ITEST COMBINATION (AND)

$AGE $.55

ICLA SPA SNA SEL DID NOT SKIP
IAC AND LINK SHOULD BE ZERO

ICLA SPA SNA SiL DID NOT CLEAR AC

IAC AND LINK SHOULD BE BERG

IAC=3777 LINKIi
ITEST COMBINATION (AND)

{CLA SPA SNA SEL FAILED. A543H0ULD
KBE fifififl. LENK SHDULD EQUAL fiNE

Iéfia4figfi LiNKfifi

{TEST CfififiiflATlDN iéND)

fCLA SPA SNA SZL FAILED. é S gfiOULE

18E @ZQQ; LINK 3%QUL3 EQUAL EERQ

2?Es C,MB;NAT10N (AND)

fCLA Sgé SNA 82L FAILflfi.

ILINK SHOULD BE ZERO.

IAC25252
ITES7 CQMBXNATION

/CLA 05R FAILED

£5 AND



g;;%~axa EHSTEDQTISN

4326

4321

4322

4323

4324
4325

4326

4327
4339

6331

4332

4333

4334

4335

4336

4337

4366

4361

3352

43é3

4344

4355

43é6

43§7

43%9

4351

4352

4353

4354

4355

4356

4357

436%

?2%9

I33” 1 %&;13 gifig Ewfiéfiw7i i§i§3

iAU Swuugfi fit @gfifi

{DROUP 2 OPERATE IfiST 72

OLA

?AD KQDEQ {Acgqggg

SHA OSR /TEST COMBINATION

HLT fSMA 03R FAILED 70 SKIP

fAC SHOULD BE 7777

DNA .

SEA

HLT ISMA OSR FAILED

IAC SHOULD BE DEED

/GROUP 2 OFERATE TEST 73

CLA {AC=§ODQ
SEA 05R /TEST COMBINATION

HLT /SZA OSR FAILED TO SKIP

/AC SHOULD BE 0000

DNA

82A

HLT [SEA OSR FAILED.
IAC SHOULD BE OEDD

IGRDUP 2 OPERATE TCST 74

CLL CML CLA ILINK31

SNL 03R ITEST COMBINATION

HLT ISNL OSR FAILED TO SKIP

IAC SHOULD BE 7777

DNA

SEA

SLT ISNL OSR FAILED.
MAC SHOULD BE 6659

EGQDUP 2 DEERATE TEST 75

OLA CLL

Tfib K3??? ié€$3777 szxgg

OLA SKA SEA ESL 93R [TEST COMBINATION

SNA

HLT fCLA SHA SEA SNL DQR FAILED.
féC SHDDLD 8E 777ig LINfiafi

SMA

SiA
’

.

HLT ICLA SHA SEA SNL 03R FAILED
gamma,

/AE SHOULD EQUAL EESU

(ERGO? 2 DEERATE YES? 76

CLA féCBEBDE

SKP 88R {TEST COMBINATION

HLT XSK? DER are NOT SKIP

/AC SHOULD BE 7777

CHA

35;

ML? XSKP $39 §azgzo
{AC SHOUHD EQUAL iERD

§

XGQDUP 2 D?EQA E TEST 77

CLA fACfifiQQfi

m



€w37§§CTiGN 7E3? i Fagié $151(
5352 ?§14 SPA QSR

-43a3 ?4§2 DLY

4364 ?$49 DNA

%355 7449 82A

@366 7422 HLT

IGROUP 2 OFERAYE TEST 78

4367 7266 CLA
4379 1331 TAD K6459

“4371 7554 SNA 08R

4372 7462 HLT

4373 7346 CMA

4374 7%43 32A

4375 7992 HLT

IGROUP 2 OPERATE TESY 79

4376 7390 CLA CLL

4377 7434 SiL 05R

4406 7402 HLT

4431 7'06 CHA

a492 7445 32A

4493 7‘02 HLT

IGROUP 2 OPERATE ?EST 89

4454 7339 ch CLL

4455 1653 TAD K3777

4455 7774 OLA S9A SNA 82L

4457 7432 ML?

4418 ?B¢B EMA

4411 $449 $25
4432 ?462 ML?

{MD §?ERATE $EST 1

4413 ?363 CLA SMA ELL DHL

4414 ?691 eggs

4415 7639 32L

4415 ?44@ sag

4417 7432 ML?

5&0 6P2§A72 7E3? 2

4422 7362 CLA CLL EMA CHL

4421 7421 NOPE
4422 794a CMA

4423 ?436 SEL

4424 ?446 SEA

4425 ?4%2 HLT

XHQ GFEfiAWE TEST 3

#426 $569 CLA CMA CLL CHL

smaaaa?1 { $3333 @éca awg?
‘.

ngsv CGHfiZNATlfifi

zspg 339 are NOT SKIP

gas SRGULB saga; 77??

{SPA DSR FAILED.

/AC SHOULD BE D663

/AC=E4DE

ITEST COMBINATION

ISNA OSR DID NOT SKIP
IAC SHOULD BE 7777

ISNA 03R FAILED
IAC SHOULD SE @639

xgzwxaa Aeneeee
xresv COHfiINATION

xszL osn DID NOT SKIP
IAC snougo a: 7777

ISiL 03R FAILED
{AC SHOULD BE 6996

IAGBS777 LINKafl

DSR [TEST COMBINATXDN (AwQ)
IABOVE MESS DID NDT SKIP

IAC SHOULD BE 7777

iCLA SPA SNA 32L 03R FAILED
{AC SEGDLD 3E Egfifl

IAD$7?77 LINK31

iACafiDGE LINK31

[7&91 FéiLED

iAC=7777 L51

IAC=7777 L31 (MOP)

I7401 FAYLED

IAC=7777 LINK=1

I“
K

I

l
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$427 $921 HQL gassgfifia Liwxgi

$436 $439 32L

4431 T4éfl 35A

4432 7462 ML? {MOL OLD NOT CLEgR ac

IOQ OPERATE TEST a

4433 75e6 CLA CLL

4434 7%21 MQL /HQ393953 ACaOfiOfi

4435 7&49 CMA lAC=7777

4436 7561 MOA iA837777. Maxgfiafi

4437 ?@4O EMA /AO=OQEQ

44as ?429' SNL
4441 7649 SEA

4442 7692 HLT IMO DID NOT EQUAL $659 OR NOT FaiLED

IMO OPERATE TEST 5

4443 7349 CLA CHA CLL
4444 7921 MQL /HQ=7777. Acaflflflfi

4445 7501 MOA lAc=7777. Mo=7777
4446 7640 EMA

4447 7929 SNL

4459 7640 52A

4451 7502 HLT IMO DID NOT EQUAL 7777 OR MQA PfizLEO

IMO OPERATE TEST 6

4452 7691 CLAE ICLEAR AC

4453 1355 TAO K5252

4454 7521 HQL IH985252: AC=OOBO

4455 1956 TAD K2525

4456 ?501 MQA xgcs7777. M93523?

4457 T949 OMA

4469 764a SEA

4461 $592 HLT {MO DID NOT EQUAL $232 OR MGA FAELED

KHO OPERATE TEST 7

44é2 7369 CLA CMA CLL CML

4463 ?521 MQL iMG=7777. ACzazOfi

4454 $940 CMA xéca7777

4465 Téa. CAM IAC AND M9.z@fi@fi

44é6 ?é46 ‘ SEA

4457 ?402 ML? iAC SHOULD EQUAL OBOE

447a ?§®1 MQA lAE=fi§fifis fiflfififififi

4471 743a saL
'

4472 $949 SEA

4473 T492 HLT /CAM DID NOT CLEAR HG

/0R LINK HAS CLEARED

[MG OPERATE TEST 8

4474 7591 CLAE ICEEQR A6

4475 §421 HQL XMOSOOEO ACSQQQQ

4475 $943 CHA

4477 7791 ACL ffifizfifigfi MQEQQQQ

4§fig 744g SEA

4531 7532 “L7 /ACL FAILED

( (I Q (
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4592
4533
2524

$565
4566

4527
4512
95%;
4212
2213

4553

4554

4555

4556

4557

$521
7440
7492

2242

7421

7791

7339
?359
7???
2521
7042
7342
7922

:35;

7621

704%

7521

7446

7492

893
9?!
HL7

IMG OPERAYE

CLA

MQL

ACL

CH4
sag
FLT
HQA

CHA

32A
HLT

Ina OPERATEH
ctit
7&6
ME-
*5
Ac;
TAD
m
sag
mgr
Mag
TAé

ca:3?

HL?

x22 0222¢¢£\
CLgt
226

Ma;
TAB

ACL

TAD

CMA

SEA

HLT

MQA
”A“ ll

15%;“;

EMA
SEA

HLT

N610 OPERATE

CAM

CMA

swP

SEA

HLT

K

TEST 9

CMA

TEST 12

23232

K2§25

K2525

22525

:55! 11

22525

25252

K5252

TEST 12

13:53 PAGE 1-59

IA' ,499 Haaaaaz

xno SHOULe EQUAL 2222

IMG=7777 AC=GDBO

IAC=7777 M087777

/AEL FAiLzo
»

xAc=7777. M927777

7H0 SHOULD EQUAL 7777

ithAR AE

2M§=§2§2 Asaaaaa

iac252§2 Masszsz

IAétfiFélLED .

1ACh5252 Haaszaz

IMG SHbULD EQUAL 5252

/CLEAR AC

xfian2525 Ac=2zga

fAC=2525 HQ=2525

iACL FAILED
/AC=2525 MQ=2525

/MQ SHOULD EQUAL 2525

/MQ=@@@Q AC=®EBG

/AC=7777

/MQ=7777 AC=0900

/AC SHOULD EQUAL Efififi
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4569

4561

4562

4563

4564

4565

4566

4567

4570

4571

4572

4573

4574

4575

4576

4577

4680
4601

4602

4663

4604

4695
4606

4607

461D
4611

4612

4613

4614

4615
4616
4617
4620

4621

4622

4623

4624

4625

4626

4627

4630

4631

4632

4633

4634

4635

7701
7040

7440
7402

7621

7040

7421
7521
7040

7440

7402
7701

7440

7402

7621

1055
7421

1956
7521

1056
7040

7440
7902
7701

1055
7040
7945
7992

7621

;656
7921
1055
7521

1055
7040

7440

7402
7701

1056
7040

7440

7402

7621

7949

7721

7440

AOL

CHA

32A

HLT

IMO OPERATE TEST 13

CAN

CHA

MOL

SHP

CMA

SEA

HLT
ACL

SZA

HLT

IMO OPERATE TEST 14

CAM

TAD K5252

MOL

TAD K2525

SUP

TAD K2525

CMA

SEA

HLT

ACL

TAD K5252

CHA
'

SZA

HLT

IMO OPERATE TEST 15

CAM

TAD K2525

HQL

TAD K5252

SWP

TAD K5252

CHA

82A

HLT

ACL

TAD K2525

CMA

SEA

HLT

/MO OPERATE TEST 16

CAM

CMA

CLAE SUP

SEA

s-MAR-71 £5853 PAGE $265

[4537777 fifin7777

lMO SHOULD EQUAL 7777

IMO=OOOO AC=ZOZO

IMO=7777 AC=OOOO

IMO=OOOO AC=7777

/AC=OOOO MO=OOOO

'

[MD SHOULD EQUAL GOOD

IMOEDOOO ACIOOOO

lMOB5252 AC£OOOO

/MO=2525 AC=5252

/SNP FAILED
IAC=2525 MO32525

ISNP FAILED MO SHOULD EQUAL 2525
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